BID SUMMARY

2021 Street Rehabilitation Project, Contract B

Project No. 2021-002
Planning & Development Department

Tuesday, February 23, 2021 10:00 AM

Engineer's Estimate for the Base Bid: \$944,000 Engineer's Estimate for the Bid Alternate A: \$900,000 Engineer's Estimate for the Bid Alternate B: \$275,000



CITY OF WESTERVILLE

21 S. STATE STREET WESTERVILLE, OH 43081

| COMPANY | INFORMAL TOTAL OF BASE BID ITEMS (Lines 1- 177) | ADJUSTED TOTAL OF BASE BID ITEMS (Lines 1- 177) | DIFFERENCE | ALTERNATE A TOTAL OF BID ITEMS (Lines A- 01 thru A-38) | ALTERNATE I TOTAL OF BII ITEMS (Lines 01 thru B-59) |
|-------------------------|---|---|------------|---|--|
| Strawser Paving | \$983,326.61 | \$983,326.61 | \$0.00 | \$696,325.15 | \$275,168.50 |
| Shelly & Sands | \$1,000,538.10 | \$1,000,538.10 | \$0.00 | \$750,030.20 | \$308,844.10 |
| Decker Construction | \$1,002,246.55 | \$1,002,246.55 | \$0.00 | \$738,429.37 | \$328,774.97 |
| Columbus Asphalt Paving | \$1,017,598.05 | \$1,017,598.05 | \$0.00 | \$761,995.55 | \$323,467.64 |
| | | | | | |
| | | | | | |

EXPLANATION: The **informal total of bid items** listed above represents the bidder's total amount for the project. The **adjusted total of bid items** amount represents the corrected total that was necessary to correct any bidder's mathematical errors.

2021 STREET REHABILITATION PROJECT, CONTRACT B (Project No. 2021-002)

BID SCHEDULE

| | | (A) | | (B) | (C) | Co | lumbus, OH 4) 276-5273 (C) | Colum | irmon Ave abus, OH 444-5100 | Columi | Kinley Avenue ous, OH 43204) 488-7958 | 1196 Technolo Gahanna, OH (614) 759-1 | H 43230 -9800 |
|----------------|--|--------------|----------|---------------------|--------------------|-------------|----------------------------------|------------|-----------------------------------|------------|--|---|--------------------|
| | | | | | Unit Item TOTAL IN | | Unit Item TOTAL IN | . , | Unit Item TOTAL IN | | Unit Item TOTAL IN | 1 | Unit Item TOTAL IN |
| ITEM SPEC | CMS DESCRIPTION | QUANTITY | UNIT | UNIT PRICE | FIGURES (A x B) | UNIT PRICE | FIGURES (A x B) | UNIT PRICE | FIGURES (A x B) | UNIT PRICE | FIGURES (A x B) | UNIT PRICE | FIGURES (A x B) |
| HAMILTO | DN AVENUE IMPROVEMENTS | | | | | | | | | | | | |
| | ROADWAY | | | | | | | | | | | | |
| 1 201 | COLS CLEARING AND GRUBBING | 1 | LS | \$3,500.00 \$3 | | \$1,600.00 | \$1,600.00 | | \$500.00 | | 00 \$1,650.00 | \$3,600.00 \$3 | |
| 2 201 | COLS TREE REMOVED, 18" SIZE, AS DIRECTED | 1 | EA | \$600.00 \$6 | | \$900.00 | \$900.00 | | \$750.00 | | 50 \$875.50 | \$880.00 \$8 | |
| 3 202 | COLS CATCH BASIN OR INLET REMOVED | 4 | EA | \$450.00 \$1 | | \$228.50 | \$914.00 | | \$1,000.00 | | 32 \$1,745.28 | \$535.00 \$2 | |
| 4 202 | COLS CURB REMOVED COLS HEADWAL REMOVED | 59 | FT EA | \$8.00 \$4 | | \$8.70 | \$513.30 \$600.00 | | \$139.00 | | 63 \$568.17 32 \$556.32 | \$10.00 \$5 \$970.00 \$9 | |
| 5 202 | | 1 | EA EA | \$500.00 \$5 | | | | | | | | | |
| 6 202 7 202 | COLS MANHOLE REMOVED COLS PAVEMENT REMOVED | 1.276 | EA SY | \$600.00 \$6 | | \$600.00 | \$600.00 | | \$250.00 | | 64 \$896.64 | \$530.00 \$5 | |
| 7 202 | COLS PIPE REMOVED COLS PIPE REMOVED | 1,276 516 | SY FT | \$20.00 \$2 | | \$16.00 | \$20,416.00 | | \$6,380.00 | | 17 \$18,080.92 | \$7.00 \$8 | |
| 8 202 | | 516 | | \$30.00 \$1 | | \$21.50 | \$11,094.00 | | \$8,772.00 | | 23 \$14,566.68 | \$42.00 \$2 | |
| 9 202 | ODOT REMOVAL MISC.: BOULDER REMOVED ODOT REMOVAL MISC.: LANDSCAPE ELEMENT REMOVED | 1 | EA EA | \$230.00 \$2 | | \$32.00 | \$32.00 \$600.00 | |) \$75.00) \$450.00 | | 00 \$252.00 32 \$1,064.64 | \$69.00 \$6 \$1,400.00 \$2 | |
| 10 202 | | 2 | | \$980.00 \$1 | | | | | | | | | |
| 11 202 | ODOT REMOVE AND REBUILD PAVER PATIO AND SEAT WALL ODOT REMOVAL MISC - REMOVE AND RESET ROOK ROX | 1 | LS | \$7,500.00 \$7 | | \$4,000.00 | \$4,000.00 | | \$6,000.00 | | 00 \$3,811.00 | \$3,800.00 \$3 | |
| 12 202 | | 1 | EA | \$150.00 \$1 | | | \$300.00 | | \$400.00 | | 00 \$2,000.00 | \$190.00 \$1 | |
| 13 202 | COLS WALK REMOVED | 58 | SF | \$4.00 \$2 | | \$5.40 | \$313.20 | | \$261.00 | | 38 \$544.04 | \$4.50 \$2 | |
| 14 203 | COLS EXCAVATION | 856 | CY | \$35.00 <u>\$2</u> | | \$43.00 | \$36,808.00 | | \$17,120.00 | | 04 \$29,138.24 | \$23.00 \$1 | |
| 15 203 | COLS EMBANKMENT | 5 | CY | \$30.00 \$1 | | \$105.00 | \$525.00 | | \$150.00 | | 26 \$556.30 | \$14.00 \$7 | |
| 16 204 | ODOT EXCAVATION OF SUBGRADE, AS DIRECTED | 100 | CY | \$35.00 \$3 | | \$35.00 | \$3,500.00 | | \$2,800.00 | | 63 \$5,563.00 | \$28.00 \$2 | |
| 17 204 | ODOT GRANULAR MATERIAL, TYPE E, NO. 2 STONE, 703.01, AS DIRECTED | 50 | CY | \$45.00 <u>\$2</u> | | \$45.00 | \$2,250.00 | | \$2,000.00 | | 00 \$2,000.00 | \$48.00 \$2 | |
| 18 204 | COLS PROOF ROLLING | 1 | HR | \$215.00 \$2 | | \$98.00 | \$98.00 | | \$200.00 | | 68 \$76.68 | \$90.00 \$9 | |
| 19 204 | COLS SUBGRADE COMPACTION | 1,613 | SY | \$2.00 \$3 | | \$1.40 | \$2,258.20 | | \$5,968.10 | | 69 \$2,725.97 | \$2.40 \$3 | |
| 20 206 | ODOT CHEMICALLY STABILIZED SUBGRADE, AS DIRECTED (ALLOWANCE) | 1 | LS | \$50,000.00 \$5 | | \$50,000.00 | \$50,000.00 | | \$50,000.00 | | 00 \$50,000.00 | \$50,000.00 \$5 | |
| 21 304 | ODOT AGGRGATE BASE, AS DIRECTED | 50 | CY | \$65.00 \$3, | | \$50.00 | \$2,500.00 | | \$2,150.00 | | 00 \$2,500.00 | \$43.00 \$2 | |
| 22 12608 | WEST 4" CONCRETE WALK, CLASS COC 5 | 2,144 | SF | \$8.00 \$1 | | \$8.25 | \$17,688.00 | | \$17,152.00 | | 64 \$14,236.16 | \$6.75 \$1 | |
| 23 12608 | WEST 6" CONCRETE WALK, CLASS COC 5 | 77 | SF | \$9.00 \$6 | | \$9.26 | \$713.02 | | \$1,771.00 | | 78 \$599.06 | \$8.40 \$6 | |
| 24 12608 | WEST CURB RAMP , CLASS COC 5 | 4 | EA | \$300.00 \$1 | | \$190.50 | \$762.00 | | \$660.00 | | 50 \$1,030.00 | \$110.00 \$4 | |
| 25 12608 | WEST DETECTABLE WARNING, TYPE E | 44 10 | SF SY | \$30.00 \$1 | | \$20.50 | \$902.00 | | \$1,936.00 | | 75 \$1,133.00 | \$17.25 \$7 | |
| 26 SPC | GEOGRID, TENSAR BX1300 OR APPROVED EQUAL, AS DIRECTED | 10 | 3. | \$10.00 \$10 | 00.00 | \$10.00 | \$100.00 | \$65.0 | \$650.00 | \$10 | 00 \$100.00 | \$5.60 \$5 | 6.00 |
| | | | | | | | | | | | | | |
| | EROSION CONTROL | | | | | | | | | | | | |
| 27 12653 | WEST PROCESSED TOPSOIL, FURNISHED AND PLACED | 105 | CY | \$70.00 <u>\$7</u> | | \$65.00 | \$6,825.00 | ,,,,,, | \$5,460.00 | | 10 \$7,570.50 | \$85.00 \$8 | |
| 28 12659 | WEST SEEDING AND MULCHING | 379 | SY | \$2.50 \$9 | | \$2.20 | \$833.80 | | \$2,084.50 | | 06 \$780.74 | \$2.10 \$7 | |
| 29 12659 | WEST SEEDING AND MULCHING, AS PER PLAN | 50 | SY | \$2.50 \$1 | | \$2.20 | \$110.00 | | \$275.00 | | 06 \$103.00 | \$2.10 \$1 | |
| 30 12659 | WEST COMMERCIAL FERTILIZER | 0.21 | TON | \$800.00 \$1 | | \$761.71 | \$159.96 | | \$150.15 | | 00 \$151.41 | \$725.00 \$1 | |
| 31 12659 | WEST WATER | 11 | MGAL | \$200.00 \$2 | | \$70.50 | \$775.50 | | \$33.00 | | 95 \$736.45 | \$67.00 \$7. | |
| 32 12660 | WEST SODDING, UNSTAKED | 714 | SY | \$12.00 \$8 | | \$10.75 | \$7,675.50 | | \$9,282.00 | | 15 \$7,247.10 | \$10.25 \$7 | |
| 33 12832 | WEST TEMPORARY SEDIMENT AND EROSION CONTROLS | 1 | LS | \$1,000.00 \$1 | ,000.00 | \$800.00 | \$800.00 | \$6,000.0 | \$6,000.00 | \$3,000 | 00 \$3,000.00 | \$6,500.00 \$6 | ,500.00 |
| | | | | | | | | | | | | | |
| | DRAINAGE COLC CONCRETE MASONRY | | | | | | | | | | | | |
| 34 602 | COLS | 0.33 | CY | \$3,500.00 \$1, | | \$2,912.55 | \$961.14 | | \$528.00 | | 73 \$916.32 | \$5,300.00 \$1 | |
| 35 604 | COLS CURB AND GUTTER INLET (AA-S125A) | 2 | EA | \$2,500.00 \$5 | | \$2,700.00 | \$5,400.00 | | \$6,200.00 | | 32 \$3,032.64 | \$2,900.00 \$5 | |
| 36 604 | COLS MANHOLE, TYPE C | 5 | EA | \$3,500.00 \$1 | | \$2,900.00 | \$14,500.00 | | \$15,000.00 | | 28 \$20,126.40 | \$4,500.00 \$2 | |
| 37 605 | COLS 6" PIPE UNDERDRAIN, 720.12, TYPE SP. | 1,014 | FT | \$11.00 \$1 | | \$8.70 | \$8,821.80 | | \$11,154.00 | | 82 \$8,943.48 | \$9.70 \$9, | |
| 38 611 | ODOT 3" CONDUIT, TYPE E, 707.46 | 90 | FT | \$15.00 <u>\$1</u> | | \$12.00 | \$1,080.00 | | \$1,620.00 | | 71 \$1,143.90 | \$18.00 \$1 | |
| 39 611 | ODOT 6" CONDUIT, TYPE F, 707.45 | 17 | FT | \$20.00 \$3 | | \$15.50 | \$263.50 | | \$544.00 | | 14 \$376.38 | \$100.00 \$1 | |
| 40 611 | ODOT 12" CONDUIT, TYPE B, 706.02 | 432 | FT | \$105.00 <u>\$4</u> | | \$115.00 | \$49,680.00 | | \$31,104.00 | | 53 \$43,428.96 | \$100.00 \$4 | |
| 41 611 | ODOT 18" CONDUIT, TYPE B, 706.02 | 441 | FT | \$260.00 \$1 | | \$123.50 | \$54,463.50 | | \$46,305.00 | | 03 \$71,455.23 | \$196.00 \$8 | |
| 42 611 | ODOT CATCH BASIN, NO. 3 | 4 | EA | \$3,500.00 \$1 | | \$2,700.00 | \$10,800.00 | | \$14,400.00 | | 64 \$9,730.56 | \$3,900.00 \$1 | |
| 43 611 | ODOT CATCH BASIN, NO. 2-2B | 4 | EA | \$3,700.00 \$1 | 4,800.00 | \$1,200.00 | \$4,800.00 | \$2,400.0 | \$9,600.00 | \$1,516 | 32 \$6,065.28 | \$2,000.00 \$8 | ,000.00 |

Strawser Paving

Shelly & Sands Inc

Decker Construction Co.

Columbus Asphalt Paving

ENGINEERS ESTIMATE

| | | PAVEMENT | | | | | | | | |
|----------------|---------|--|----------|----------|-------------------------|---------------------------|---------------------------|--|--|-------------------------|
| 44 25 | 2 C | DLS FULL DEPTH PAVEMENT SAWING | 187 | FT | \$3.00 \$561.00 | \$1.90 | \$355.30 | \$4.00 \$748.00 | \$6.00 \$1,122.00 | \$2.10 \$392.70 |
| 45 25 | 9 C | DLS PERMANENT PAVEMENT REPLACEMENT, TYPE I | 9 | CY | \$450.00 \$4,050.00 | \$375.00 | \$3,375.00 | \$350.00 \$3,150.00 | \$500.00 \$4,500.00 | \$385.00 \$3,465.00 |
| 46 30 | 1 C | DLS ASPHALT CONCRETE BASE, PG64-22 | 243 | CY | \$155.00 \$37,665.00 | \$162.50 | \$39,487.50 | \$125.00 \$30,375.00 | \$181.74 \$44,162.82 | \$147.00 \$35,721.00 |
| 47 30 | 4 01 | OT AGGREGATE BASE | 301 | CY | \$65.00 \$19,565.00 | \$78.00 | \$23,478.00 | \$55.00 \$16,555.00 | \$61.50 \$18,511.50 | \$43.00 \$12,943.00 |
| 48 40 | 7 01 | OT NON-TRACKING TACK COAT | 69 | GAL | \$4.00 \$276.00 | \$4.50 | \$310.50 | \$2.85 \$196.65 | \$8.00 \$552.00 | \$4.50 \$310.50 |
| 49 44 | 1 00 | OT ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (448), PG64-22 | 51 | CY | \$195.00 \$9,945.00 | \$263.50 | \$13,438.50 | \$210.00 \$10,710.00 | \$285.16 \$14,543.16 | \$182.00 \$9,282.00 |
| 50 44 | 1 00 | OT ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE 2, (448) | 61 | CY | \$175.00 \$10,675.00 | \$207.50 | \$12,657.50 | \$180.00 \$10,980.00 | \$193.74 \$11,818.14 | \$190.00 \$11,590.00 |
| 51 124 | 52 W | EST 6" NON-REINFORCED CONCRETE PAVEMENT, CLASS COC MS | 141 | SY | \$75.00 \$10,575.00 | \$76.00 | \$10,716.00 | \$125.00 \$17,625.00 | \$65.92 \$9,294.72 | \$70.00 \$9,870.00 |
| 52 126 | 09 C | DLS 18" STRAIGHT CURB, CLASS COC 5 | 1,031 | FT | \$25.00 \$25,775.00 | \$20.00 | \$20,620.00 | \$25.00 \$25,775.00 | \$16.48 \$16,990.88 | \$16.00 \$16,496.00 |
| 53 126 | 09 C | OLS 3.5" DIAMETER CORED CURB | 9 | EA | \$60.00 \$540.00 | \$32.50 | \$292.50 | \$175.00 \$1,575.00 | \$22.66 \$203.94 | \$45.00 \$405.00 |
| 54 1215 | 40 W | EST ASPHALT REJUVENATING AGENT | 1,613 | SY | \$1.10 \$1,774.30 | \$0.90 | \$1,451.70 | \$1.00 \$1,613.00 | \$1.04 \$1,677.52 | \$1.05 \$1,693.65 |
| | | | | | | | | | | |
| | | WATER WORK | | | | | | | | |
| 55 128 | | EST 6" ZINC COATED DUCTILE IRON WATER PIPE AND FITTINGS w/912 BACKFILL | 14 | FT | \$135.00 \$1,890.00 | \$400.00 | \$5,600.00 | \$235.00 \$3,290.00 | \$69.57 \$973.98 | \$360.00 \$5,040.00 |
| 56 128 | | EST 6" VALVE AND APPURTENANCES | 1 | EA | \$1,300.00 \$1,300.00 | \$1,400.00 | \$1,400.00 | \$765.00 \$765.00 | \$1,026.96 \$1,026.96 | \$1,100.00 \$1,100.00 |
| 57 128 | | EST 3/4" WATER SERVICE, COMPLETE, SHORT | 3 | EA | \$2,000.00 \$6,000.00 | \$3,250.00 | \$9,750.00 | \$2,500.00 \$7,500.00 | \$1,753.28 \$5,259.84 | \$3,000.00 \$9,000.00 |
| 58 128 | | EST 3/4" WATER SERVICE, COMPLETE, LONG | 5 | EA | \$2,500.00 \$12,500.00 | \$3,000.00 | \$15,000.00 | \$2,650.00 \$13,250.00 | \$2,858.11 \$14,290.55 | \$3,500.00 \$17,500.00 |
| 59 128 | | EST VALVE BOX ADJUSTED TO GRADE | 1 | EA | \$200.00 | \$500.00 | \$500.00 | \$550.00 \$550.00 | \$246.96 \$246.96 | \$235.00 \$235.00 |
| 60 128 | | EST SERVICE BOX ADJUSTED TO GRADE | 1 | EA | \$200.00 \$200.00 | \$218.00 | \$218.00 | \$250.00 \$250.00 | \$159.48 \$159.48 | \$160.00 \$160.00 |
| 61 128 | 09 W | EST FIRE HYDRANT RELOCATED | 2 | EA | \$1,500.00 \$3,000.00 | \$2,800.00 | \$5,600.00 | \$1,450.00 \$2,900.00 | \$5,291.52 \$10,583.04 | \$1,800.00 \$3,600.00 |
| | | SANITARY SEWER | | | | | | | | |
| 62 60 | 4 ((| DLS MANHOLE ADJUSTED TO GRADE | 1 | EA | \$1,000.00 \$1,000.00 | \$1,200.00 | \$1,200.00 | \$1,750.00 \$1,750.00 | \$939.84 \$939.84 | \$740.00 \$740.00 |
| | | | | | 42,22222 | +-, | 7-7 | 43,5555 | 7,000,000 | |
| | | TRAFFIC CONTROL | | | | | | | | |
| 63 63 | 0 00 | DLS GROUND MOUNTED SUPPORT, NO. 3 POST | 50 | FT | \$15.00 \$750.00 | \$22.00 | \$1,100.00 | \$20.00 \$1,000.00 | \$15.75 \$787.50 | \$21.00 \$1,050.00 |
| 64 63 | 0 C | DLS 4.0 INCH STREET NAME SIGN SUPPORT | 2 | EA | \$1,200.00 \$2,400.00 | \$1,600.00 | \$3,200.00 | \$1,500.00 \$3,000.00 | \$1,260.00 \$2,520.00 | \$1,560.00 \$3,120.00 |
| 65 63 | 0 00 | DLS SIGN POST REFLECTOR | 2 | EA | \$80.00 \$160.00 | \$54.50 | \$109.00 | \$50.00 \$100.00 | \$87.55 \$175.10 | \$55.00 \$110.00 |
| 66 63 | 0 0 | DLS SIGN, FLAT SHEET, TYPE G | 9.25 | SF | \$30.00 \$277.50 | \$32.50 | \$300.63 | \$30.00 \$277.50 | \$25.75 \$238.19 | \$31.00 \$286.75 |
| 67 63 | 0 00 | DLS REMOVAL OF POLE MOUNTED SIGN AND DISPOSAL | 1 | EA | \$45.00 \$45.00 | \$27.00 | \$27.00 | \$25.00 \$25.00 | \$36.05 \$36.05 | \$26.00 \$26.00 |
| 68 63 | 0 C | DLS REMOVAL OF POLE MOUNTED SIGN AND REERECTION | 5 | EA | \$50.00 \$250.00 | \$163.00 | \$815.00 | \$150.00 \$750.00 | \$448.05 \$2,240.25 | \$156.00 \$780.00 |
| 69 63 | 0 0 | DLS REMOVAL OF GROUND MOUNTED POST SUPPORT AND DISPOSAL | 3 | EA | \$45.00 \$135.00 | \$27.00 | \$81.00 | \$25.00 \$75.00 | \$278.10 \$834.30 | \$28.00 \$84.00 |
| 70 64 | 4 C | DLS REMOVAL OF PAVEMENT MARINGS USING PRESSURIZED WATER | 8 | FT | \$100.00 \$800.00 | \$66.00 | \$528.00 | \$37.00 \$296.00 | \$36.05 \$288.40 | \$255.00 \$2,040.00 |
| 71 64 | 7 C | DLS CROSSWALK LINE, 8", TYPE B90 | 96 | FT | \$12.00 \$1,152.00 | \$17.50 | \$1,680.00 | \$9.00 \$864.00 | \$9.58 \$919.68 | \$32.00 \$3,072.00 |
| | | | | | | | | | | |
| | | MAINTENANCE OF TRAFFIC | | | | | | | | |
| 72 41 | 0 C | DLS TRAFFIC COMPACTED SURFACE, TYPE A OR B | 42 | CY | \$30.00 \$1,260.00 | \$42.50 | \$1,785.00 | \$75.00 \$3,150.00 | \$60.00 \$2,520.00 | \$47.00 \$1,974.00 |
| 73 61 | 6 CC | OLS WATER | 3 | MGAL | \$100.00 \$300.00 | \$101.50 | \$304.50 | \$33.00 \$99.00 | \$100.00 \$300.00 | \$300.00 \$900.00 |
| | | | | | | | | | | |
| | | INCIDENTALS | | | | | | | | |
| 74 61 | | OT MAINTAINING TRAFFIC | 1 | LS | \$5,000.00 \$5,000.00 | \$8,750.00 | \$8,750.00 | \$23,000.00 \$23,000.00 | \$5,000.00 \$5,000.00 | \$14,000.00 \$14,000.00 |
| 75 61 | | EST STEEL PLATE, AS DIRECTED | 1,500 | LB | \$0.20 \$300.00 | \$0.25 | \$375.00 | \$2.00 \$3,000.00 | \$2.00 \$3,000.00 | \$0.30 \$450.00 |
| 76 62 77 62 | | IOT CONSTRUCTION LAYOUT STAKES OT MOBILIZATION | 1 | LS LS | \$2,500.00 \$2,500.00 | \$1,900.00 \$10,000.00 | \$1,900.00 \$10,000.00 | \$18,000.00 \$18,000.00 \$39,400.00 \$39,400.00 | \$6,000.00 \$6,000.00 \$3,000.00 \$3,000.00 | \$1,100.00 \$1,100.00 |
| 77 62 | 4 01 | OT MUBILIZATION | 1 | LS | \$10,000.00 \$10,000.00 | \$10,000.00 | \$10,000.00 | \$39,400.00 \$39,400.00 | \$3,000.00 \$3,000.00 | \$6,600.00 \$6,600.00 |
| 29 W | COLLEGI | PARKING LOT IMPROVEMENTS | | | | | | | | |
| | | DEMOLITION | | | | | | | | |
| 78 20 | 1 00 | OT CLEARING AND GRUBBING | 1.00 | LS | \$2,000.00 \$2,000.00 | \$1,600.00 | \$1,600.00 | \$103.00 \$103.00 | \$1,650.00 \$1,650.00 | \$3,600.00 \$3,600.00 |
| 79 20 | 1 00 | OT TREE REMOVED 30-INCH | 2.00 | EA | \$2,000.00 \$4,000.00 | \$1,600.00 | \$3,200.00 | \$2,200.00 \$4,400.00 | \$1,545.00 \$3,090.00 | \$1,550.00 \$3,100.00 |
| 80 20 | 2 00 | OT BRICK PAVER REMOVED, AS PER PLAN | 64.00 | SF | \$6.00 \$384.00 | \$4.80 | \$307.20 | \$13.00 \$832.00 | \$8.32 \$532.48 | \$10.00 \$640.00 |
| 81 20 | 2 01 | OT BRICK PAVERS DELIVERED, AS PER PLAN | 536.00 | SF | \$6.00 \$3,216.00 | \$5.70 | \$3,055.20 | \$12.00 \$6,432.00 | \$2.97 \$1,591.92 | \$64.00 \$34,304.00 |
| 82 20 | 2 00 | OT WALK REMOVED | 1,121.00 | SF | \$4.00 \$4,484.00 | \$2.20 | \$2,466.20 | \$0.55 \$616.55 | \$3.88 \$4,349.48 | \$2.00 \$2,242.00 |
| 83 20 | 2 00 | OT CURB REMOVED | 211.00 | FT | \$5.00 \$1,055.00 | \$8.70 | \$1,835.70 | \$2.15 \$453.65 | \$10.32 \$2,177.52 | \$5.00 \$1,055.00 |
| 84 20 | 2 00 | OT PAVEMENT REMOVED | 574.00 | SY | \$5.00 \$2,870.00 | \$7.00 | \$4,018.00 | \$4.50 \$2,583.00 | \$16.14 \$9,264.36 | \$14.25 \$8,179.50 |
| 85 20 | 2 01 | OT CATCH BASIN REMOVED | 1.00 | EA | \$500.00 \$500.00 | \$500.00 | \$500.00 | \$230.00 \$230.00 | \$532.32 \$532.32 | \$550.00 \$550.00 |
| 86 25 | 9 C | DLS PERMANENT PAVEMENT REPLACEMENT, TYPE III | 8.00 | SY | \$125.00 \$1,000.00 | \$190.00 | \$1,520.00 | \$350.00 \$2,800.00 | \$250.00 \$2,000.00 | \$230.00 \$1,840.00 |

| 87 2 | :59 | COLS PERMANENT PAVEMENT REPLACEMENT, TYPE I | 4.00 | SY | \$95.00 \$380.00 | \$300.00 | \$1,200.00 | \$835.00 \$3,340.00 | \$250.00 \$1,000.00 | \$360.00 \$1,440.00 |
|--------|-----|--|----------------|----------|-----------------------------|------------|-------------|------------------------|------------------------|------------------------|
| 88 6 | 30 | ODOT REMOVAL OF GROUND MOUNTED POST AND DISPOSAL | 8.00 | EA | \$60.00 \$480.00 | \$163.00 | \$1,304.00 | \$143.00 \$1,144.00 | \$139.05 \$1,112.40 | \$155.00 \$1,240.00 |
| | | | | | | | | | | |
| | | EARTHWORK | | | | | | | | |
| 89 2 | 103 | ODOT EXCAVATION | 941.00 | CY | \$25.00 \$23,525.00 | \$25.00 | \$23,525.00 | \$19.00 \$17,879.00 | \$32.96 \$31,015.36 | \$23.50 \$22,113.50 |
| 90 2 | 103 | ODOT EMBANKMENT | 164.00 | CY | \$3.00 \$492.00 | \$67.00 | \$10,988.00 | \$12.00 \$1,968.00 | \$60.13 \$9,861.32 | \$14.25 \$2,337.00 |
| | | | | | | | | | | |
| | | PAVEMENT | | | | | | | | |
| 91 2 | 103 | COLS GRANULAR MATERIAL, #2 STONE, AS DIRECTED | 25.00 | CY | \$55.00 \$1,375.00 | \$45.00 | \$1,125.00 | \$43.00 \$1,075.00 | \$50.00 \$1,250.00 | \$48.00 \$1,200.00 |
| 92 2 | | ODOT EXCAVATION OF SUBGRADE, AS DIRECTED | 50.00 | CY | \$25.00 \$1,250.00 | \$35.00 | \$1,750.00 | \$35.00 \$1,750.00 | \$44.51 \$2,225.50 | \$28.00 \$1,400.00 |
| 93 2 | | ODOT SUBGRADE COMPACTION | 1,819.00 | SY | \$2.50 \$4,547.50 | \$1.15 | \$2,091.85 | \$2.00 \$3,638.00 | \$1.55 \$2,819.45 | \$2.40 \$4,365.60 |
| 94 2 | | ODOT GEOTEXTILE FABRIC | 53.00 | SY | \$1.50 \$79.50 | \$10.00 | \$530.00 | \$3.00 \$159.00 | \$8.00 \$424.00 | \$5.50 \$291.50 |
| 95 3 | 101 | ODOT ASPHALT CONCRETE BASE, TYPE 2, PG64-22 | 128.00 | CY | \$180.00 \$23,040.00 | \$189.50 | \$24,256.00 | \$150.00 \$19,200.00 | \$183.16 \$23.444.48 | \$146.00 \$18.688.00 |
| 96 3 | 104 | ODOT AGGREGATE BASE | 256.00 | CY | \$50.00 \$12,800.00 | \$59.50 | \$15,232.00 | \$60.00 \$15,360.00 | \$55.34 \$14,167.04 | \$43.00 \$11,008.00 |
| 97 3 | 104 | ODOT AGGREGATE BASE, AS DIRECTED | 25.00 | CY | \$50.00 \$1,250.00 | \$50.00 | \$1,250.00 | \$48.00 \$1.200.00 | \$55.34 \$1.383.50 | \$43.00 \$1,075.00 |
| 98 4 | | ODOT TACK COAT (0.10 GAL/SY) | 182.00 | GAL | \$2.00 \$364.00 | \$4.50 | \$819.00 | \$2.00 \$364.00 | \$4.25 \$773.50 | \$4.50 \$819.00 |
| 99 12 | | WEST 8" REINFORCED CONCRETE PAVEMENT, CLASS COC 5, AS PER PLAN | 77.00 | SY | \$120.00 \$9,240.00 | \$81.50 | \$6,275.50 | \$80.00 \$6,160.00 | \$73.65 \$5,671.05 | \$95.00 \$7,315.00 |
| | | WEST 4" CONCRETE WALK | 1,941.00 | SF | \$6.50 \$12,616.50 | \$8.70 | \$16,886.70 | \$6.80 \$13,198.80 | \$6.64 \$12,888.24 | \$9.00 \$17,469.00 |
| 101 12 | | WEST CURB RAMP | 4.00 | EA | \$500.00 \$2,000.00 | \$190.50 | \$762.00 | \$168.00 \$672.00 | \$257.50 \$1,030.00 | \$100.00 \$400.00 |
| | | WEST 18" CURB, AS PER PLAN | 698.00 | FT | \$18.00 \$12,564.00 | \$24.00 | \$16,752.00 | \$31.00 \$21,638.00 | \$18.80 \$13,122.40 | \$16.00 \$11,168.00 |
| | | ODOT GROUND MOUNTED SUPPORT, NO. 3 POST, AS PER PLAN | 100.00 | FT | \$30.00 \$3,000.00 | \$81.50 | \$8,150.00 | \$75.00 \$7,500.00 | \$135.96 \$13,596.00 | \$78.00 \$7,800.00 |
| | | | | SF | | | | | | |
| | | ODOT SIGN FLAT SHEET, TYPE G, AS PER PLAN | 20.00 | | \$40.00 \$800.00 | \$81.50 | \$1,630.00 | \$75.00 \$1,500.00 | \$56.65 \$1,133.00 | \$80.00 \$1,600.00 |
| | | ODOT SIGN SUPPORT ASSEMBLY, POLE MOUNTED, AS PER PLAN | 7.00 750.00 | EA LF | \$100.00 \$700.00 | \$217.50 | \$1,522.50 | \$200.00 \$1,400.00 | \$144.20 \$1,009.40 | \$205.00 \$1,435.00 |
| | | ODOT PARKING LOT STALL MARKING, 4" WHITE | | | \$1.00 \$750.00 | * | \$1,275.00 | \$0.90 \$675.00 | \$0.93 \$697.50 | \$2.95 \$2,212.50 |
| 10, 0 | | ODOT TRANSVERSE LINE, 6" WHITE | 155.00 | LF | \$2.00 \$310.00 | \$2.25 | \$348.75 | \$1.25 \$193.75 | \$1.24 \$192.20 | \$2.95 \$457.25 |
| 100 0 | | ODOT INTERNATIONAL SYMBOL OF ACCESSIBILITY | 4.00 | EA | \$100.00 \$400.00 | \$259.00 | \$1,036.00 | \$140.00 \$560.00 | \$141.11 \$564.44 | \$550.00 \$2,200.00 |
| | | ODOT ASPHALT CONCRETE, SURFACE COURSE, TYPE 1 (448), PG64-22 | 54.00 | CY | \$210.00 \$11,340.00 | \$254.50 | \$13,743.00 | \$175.00 \$9,450.00 | \$209.16 \$11,294.64 | \$260.00 \$14,040.00 |
| 110 8 | | ODOT ASPHALT CONCRETE, INTERMEDIATE COURSE, TYPE 2 (448), PG64-22 | 75.00 | CY | \$200.00 \$15,000.00 | \$208.50 | \$15,637.50 | \$150.00 \$11,250.00 | \$197.16 \$14,787.00 | \$210.00 \$15,750.00 |
| 111 12 | | WEST DETECTABLE WARNING, TYPE E, AS PER PLAN | 62.00 | SF | \$33.00 \$2,046.00 | \$20.00 | \$1,240.00 | \$38.00 \$2,356.00 | \$25.75 \$1,596.50 | \$23.00 \$1,426.00 |
| 112 4 | | ODOT NON TRACKING TACK COAT (0.07 GAL/SY) | 137.00 | GAL | \$4.00 \$548.00 | \$4.50 | \$616.50 | \$2.85 \$390.45 | \$4.25 \$582.25 | \$4.50 \$616.50 |
| 113 S | PC | ODOT CONCRETE PARKING BLOCK | 4.00 | EA | \$175.00 \$700.00 | \$294.50 | \$1,178.00 | \$225.00 \$900.00 | \$125.00 \$500.00 | \$125.00 \$500.00 |
| 114 S | PC | ODOT PARKING LOT ENTRY SIGNS | 2.00 | EA | \$200.00 \$400.00 | \$2,700.00 | \$5,400.00 | \$2,500.00 \$5,000.00 | \$3,811.00 \$7,622.00 | \$2,800.00 \$5,600.00 |
| 115 S | PC | ODOT PAVER SIDEWALK, AS PER PLAN | 472.00 | SF | \$20.00 \$9,440.00 | \$19.50 | \$9,204.00 | \$29.00 \$13,688.00 | \$21.48 \$10,138.56 | \$24.00 \$11,328.00 |
| 116 S | | ODOT LOT A SIGNAGE, AS PER PLAN | 1.00 | EA | \$200.00 \$200.00 | \$1,400.00 | \$1,400.00 | \$1,250.00 \$1,250.00 | \$1,648.00 \$1,648.00 | \$1,500.00 \$1,500.00 |
| 117 S | PC | ODOT POST SLEEVE | 2.00 | EA | \$200.00 \$400.00 | \$1,400.00 | \$2,800.00 | \$1,250.00 \$2,500.00 | \$500.00 \$1,000.00 | \$1,300.00 \$2,600.00 |
| | | | | | | | | | | |
| | | MASONRY PIERS AND WALL | | | | | | | | |
| 118 S | PC | MASONRY PIER, AS PER PLAN | 3.00 | EA | \$2,500.00 \$7,500.00 | \$5,655.95 | \$16,967.85 | \$5,700.00 \$17,100.00 | \$5,565.00 \$16,695.00 | \$5,700.00 \$17,100.00 |
| 119 S | PC | MASONRY PIER w/LIGHT, AS PER PLAN | 2.00 | EA | \$2,500.00 \$5,000.00 | \$5,686.80 | \$11,373.60 | \$5,800.00 \$11,600.00 | \$8,000.00 \$16,000.00 | \$5,700.00 \$11,400.00 |
| 120 S | PC | MASONRY WALL, AS PER PLAN | 27.00 | FT | \$400.00 \$10,800.00 | \$1,375.94 | \$37,150.38 | \$2,375.00 \$64,125.00 | \$1,380.00 \$37,260.00 | \$1,400.00 \$37,800.00 |
| 121 S | PC | MARONRY TALLL WALL, AS PER PLAN | 7.00 | FT | \$500.00 \$3,500.00 | \$2,253.12 | \$15,771.84 | \$2,800.00 \$19,600.00 | \$2,260.85 \$15,825.95 | \$2,280.00 \$15,960.00 |
| | | | | | | | | | | |
| | | STORM SEWER / DRAINAGE | | | | | | | | |
| 122 6 | 604 | COLS CATCH BASIN (COLS AA-S133A w/GRATE PER S141) | 2.00 | EA | \$2,100.00 \$4,200.00 | \$1,469.04 | \$2,938.08 | \$2,300.00 \$4,600.00 | \$1,504.32 \$3,008.64 | \$2,000.00 \$4,000.00 |
| 123 6 | 05 | COLS 6" PIPE UNDERDRAIN, 720.12, TYPE SP | 80.00 | LF | \$20.00 \$1,600.00 | \$8.23 | \$658.40 | \$25.00 \$2,000.00 | \$17.70 \$1,416.00 | \$12.00 \$960.00 |
| 124 9 | 101 | COLS 12" CONDUIT, 706.02 w/TYPE 1 BEDDING | 130.00 | LF | \$170.00 \$22,100.00 | \$103.00 | \$13,390.00 | \$80.00 \$10,400.00 | \$109.12 \$14,185.60 | \$110.00 \$14,300.00 |
| 125 12 | 832 | WEST TEMORARY SEDIMENTATION AND EROSION CONTROLS | 1.00 | LS | \$3.00 \$3.00 | \$800.00 | \$800.00 | \$7,000.00 \$7,000.00 | \$2,000.00 \$2,000.00 | \$7,000.00 \$7,000.00 |
| | | | | | | | | | | |
| | | FURNISHINGS | | | | | | | | |
| 126 S | PC | BICYCLE RACK, LANDSCAPE FORMS, EMERSON BIKE RACK, SURFACE MOUNT | 4.00 | EA | \$750.00 \$3,000.00 | \$1,285.44 | \$5,141.76 | \$800.00 \$3,200.00 | \$2,500.00 \$10,000.00 | \$1,300.00 \$5,200.00 |
| | | | | | | | | | | |
| | | LANDSCAPE | | | | | | | | |
| 127 6 | 61 | COLS ACER FREEMANII 'CELEBRATION'; CELEBRATION MAPLE; 3" CAL.; B&B | 1.00 | EA | \$700.00 \$700.00 | \$709.56 | \$709.56 | \$800.00 \$800.00 | \$710.10 \$710.10 | \$800.00 \$800.00 |
| 128 6 | | COLS ACER SACCHARUM 'GREEN MOUNTAIN'; GREEN MOUNTAIN SUGAR MAPLE; 3" CAL; 8&B | 4.00 | EA | \$700.00 \$2,800.00 | \$841.59 | \$3,366.36 | \$800.00 \$3,200.00 | \$818.85 \$3,275.40 | \$800.00 \$3,200.00 |
| | | COLS BETULA NIGRA 'HERITAGE'; HERITAGE RIVER BIRCH; 12' HT.; B&B MULTI-STEM | 1.00 | EA | \$700.00 \$700.00 | \$571.64 | \$571.64 | \$500.00 \$500.00 | \$556.20 \$556.20 | \$500.00 \$500.00 |
| | | COLS GYMNOCLADUS DIOICUS; KENTUCKY COFFEETREE; 3" CAL; B&B | 1.00 | EA | \$700.00 \$700.00 | \$698.68 | \$698.68 | \$750.00 \$750.00 | \$679.80 \$679.80 | \$720.00 \$720.00 |
| 131 6 | | COLS METASEQUOIA GLYPTOSTROBOIDES: DAWN REDWOOD: 3" CAL.: B&B | 2.00 | EA | \$700.00 \$1,400.00 | \$608.70 | \$1,217.40 | \$690.00 \$1,380.00 | \$592.25 \$1,184.50 | \$675.00 \$1,350.00 |
| 131 0 | | and an analysis and resident and an analysis a | 2.00 | | \$100.00 <u>\$2,</u> 100.00 | 2000.70 | V4,247.70 | \$050.00 \$4,000.00 | 4272.24 VAJACT.30 | |

| A-01 2 |)2 CC | DLS CATCH BASIN OR INLET REMOVED | 8 | EA | \$450.00 \$3,600.00 | \$500.00 | \$4,000.00 | 100 \$800.00 | 1745.28 \$13,962.24 | 2100 \$16,800.00 |
|--------------------|----------|--|--------------------|-----------|--|------------------------|--------------------------|--|--|--|
| BID | ALTERNAT | E NO. A - FOREST GLEN ROAD STREET RECONSTRUCTION | | | | | | | | |
| | | | | | | | | | | |
| | | INFORMAL TOTAL BASE BID, ITEMS 1-17 | | | \$944,630.30 | ¥=, | \$983,326.61 | \$1,000,538.10 | \$1,002,246.55 | \$1,017,598.05 |
| 176 Si | | MILLBANK PEDESTAL (INSTALLATION UNLT) MILLBANK PEDESTAL FOUNDATION | 1.00 | EA | \$1,500.00 \$1,500.00 | \$1,755.14 | \$1,755.14 | \$1,550.00 \$1,550.00 | \$1,596.50 \$1,596.50 | \$1,600.00 \$1,600.00 |
| 175 SI | | MILLBANK PEDESTAL (INSTALLATION ONLY) | 1.00 | EA | \$2,000.00 \$2,000.00 | \$2,377.94 | \$2,377.94 | \$2,100.00 \$2,100.00 | \$2,163.00 \$2,163.00 | \$2,200.00 \$2,200.00 |
| 174 13 | | CHARGE POINT FOUNDATION | 2.00 | EA | \$1,200.00 \$2,400.00 | \$1,075.75 | \$2,717.64 | \$1,200.00 \$2,400.00 | \$1,236.00 \$2,472.00 | \$1,240.00 \$2,480.00 |
| 173 13: 174 13: | | EST #10 AWG COPPER-CLAD STREEL TRACER WIRE EST HANDHOLE | 75.00 1.00 | FT EA | \$1.50 <u>\$112.50</u> \$900.00 <u>\$900.00</u> | \$1,075.73 | \$144.00 \$1,075.73 | \$1.70 \$127.50 \$950.00 \$950.00 | \$1.75 \$131.25 | \$1.75 \$131.25 \$985.00 \$985.00 |
| 172 13: 173 13: | | EST 600 MCM COPPER XLP-RHW-USE 600 VOLT CONDUCTOR EST #10 AWG COPPER-CLAD STREEL TRACER WIRE | 120.00 | FT FT | \$20.00 \$2,400.00 | \$37.37 \$1.92 | \$4,484.40 \$144.00 | \$33.00 \$3,960.00 | \$33.99 \$4,078.80 \$1.75 \$131.25 | \$34.00 \$4,080.00 \$1,75 \$131.25 |
| 171 13 | | EST 4" SCHEDULE 40 PVC CONDUIT | 25.00 | FT | \$30.00 \$750.00 | \$20.95 | \$523.75 | \$18.50 \$462.50 | \$19.05 \$476.25 | \$19.00 \$475.00 |
| 170 13 | | 2" SCHEDULE 40 PVC CONDUIT | 170.00 | FT | \$20.00 \$3,400.00 | \$15.29 | \$2,599.30 | \$13.50 \$2,295.00 | \$13.90 \$2,363.00 | \$14.00 \$2,380.00 |
| | | SITE ELECTRICAL | | | | | | | | |
| | | | | | | | | | | |
| 169 13 | | EST HANDHOLE | 3.00 | EA | \$900.00 \$2,700.00 | \$1,075.73 | \$3,227.19 | \$950.00 \$2,850.00 | \$978.50 \$2,935.50 | \$975.00 \$2,925.00 |
| 168 13 | 320 W | EST #10 AWG COPPER XLP-RHW-USE 600 VOLT CONDUCTOR | 250.00 | FT | \$1.00 \$250.00 | \$4.25 | \$1,062.50 | \$1.95 \$487.50 | \$3.86 \$965.00 | \$3.90 \$975.00 |
| 167 13 | | EST #6 AWG COPPER XLP-RHW-USE 600 VOLT CONDUCTOR | 3,200.00 | FT | \$2.00 \$6,400.00 | \$2.72 | \$8,704.00 | \$2.40 \$7,680.00 | \$2.47 \$7,904.00 | \$2.50 \$8,000.00 |
| 166 13 | | EST 1" SCHEDULE 40 PVC CONDUIT | 100.00 | FT | \$10.00 \$1,000.00 | \$16.42 | \$1,642.00 | \$14.50 \$1,450.00 | \$14.94 \$1,494.00 | \$15.00 \$1,500.00 |
| 165 13 | | EST 2" SCHEDULE 40 PVC CONDUIT | 550.00 | FT | \$1,500.00 <u>\$4,500.00</u> \$20.00 <u>\$11,000.00</u> | \$1,698.52 | \$5,095.56 | \$1,500.00 \$4,500.00 | \$1,545.00 \$4,635.00 | \$1,550.00 \$4,650.00 |
| 164 13 | | EST POST TOP POLE KISER CABLE ASSEMBLY EST POST TOP POLE CONCRETE FOLINATION | 3.00 | EA EA | | | \$4,755.84 | \$1,500.00 \$4,500.00 | \$1,545.00 \$4,635.00 | \$1,550.00 \$4,650.00 |
| 162 13 163 13 | | EST COLUMN LUMINAIRE TYPE 5 DISTRIBUTION EST POST TOP POLE RISER CABLE ASSEMBLY | 2.00 6.00 | EA EA | \$1,000.00 <u>\$2,000.00</u> \$800.00 <u>\$4,800.00</u> | \$3,623.51 \$792.64 | \$7,247.02 \$4,755.84 | \$3,200.00 \$6,400.00 \$700.00 \$4,200.00 | \$3,296.00 \$6,592.00 \$721.00 \$4,326.00 | \$3,300.00 \$6,600.00 \$725.00 \$4,350.00 |
| 161 13 | | EST POST TOP LUMINAIRE TYPE 5 DISTRIBUTION | 1.00 | EA | \$1,000.00 \$1,000.00 | \$1,081.40 | \$1,081.40 | \$955.00 \$955.00 | \$983.65 \$983.65 | \$990.00 \$990.00 |
| 100 15 | -10 | EST POST TOP LUMINAIRE TYPE 3 DISTRIBUTION | 6.00 | EA | \$1,000.00 \$6,000.00 | \$1,081.39 | \$6,488.34 | \$955.00 \$5,730.00 | \$983.65 \$5,901.90 | \$990.00 \$5,940.00 |
| 159 13 | | EST POST TOP LUMINAIRE TYPE 3 DISTRIBUTION W/HS SHIELD | 4.00 | EA | \$1,000.00 \$4,000.00 | \$1,132.35 | \$4,529.40 | \$1,000.00 \$4,000.00 | \$1,030.00 \$4,120.00 | \$1,100.00 \$4,400.00 |
| 158 13 | | EST POST TOP DOUBLE LUMINAIRE POLE | 3.00 | EA | \$3,000.00 \$9,000.00 | \$3,623.51 | \$10,870.53 | \$3,200.00 \$9,600.00 | \$3,296.00 \$9,888.00 | \$3,300.00 \$9,900.00 |
| 157 13 | | EST REMOVE/SALVAGE EXISTING 150W HPS POST TOP LUMINAIRE | 5.00 | EA | \$100.00 \$500.00 | \$107.57 | \$537.85 | \$95.00 \$475.00 | \$97.85 \$489.25 | \$96.00 \$480.00 |
| 156 13 | 110 W | EST REMOVE/REINSTALL POST TOP SINGLE LUMINAIRE POLE | 3.00 | EA | \$500.00 \$1,500.00 | \$651.10 | \$1,953.30 | \$575.00 \$1,725.00 | \$592.25 \$1,776.75 | \$600.00 \$1,800.00 |
| | | SITE LIGHTING | | | | | | | | |
| | | | | | | | <u> </u> | | <u> </u> | |
| 155 6 | 24 OE | OT MOBILIZATION | 1.00 | LS | \$7,000.00 \$7,000.00 | \$10,000.00 | \$10,000.00 | \$10,000.00 \$10,000.00 | \$15,000.00 \$15,000.00 | \$5,000.00 \$5,000.00 |
| 154 6 | 23 00 | OT CONSTRUCTION LAYOUT STAKES AND SURVEYING | 1.00 | LS | \$3,000.00 \$3,000.00 | \$1,400.00 | \$1,400.00 | \$12,900.00 \$12,900.00 | \$4,000.00 \$4,000.00 | \$1,500.00 \$1,500.00 |
| | | MISCELLANEOUS | | | | | | | | |
| 153 12 | oou CC | as souring | 191.00 | 21 | \$5.00 \$955.00 | \$11.00 | \$2,101.00 | \$8.50 \$1,623.50 | \$10.30 \$1,967.30 | \$10.40 \$1,986.40 |
| 152 120 153 120 | | DLS SODDING | 1,400.00 191.00 | GAL SY | \$1.70 \$2,380.00 | \$0.15 | \$210.00 | \$0.50 \$700.00 | \$0.16 \$224.00 | \$0.52 \$728.00 |
| 151 12 | | DLS PROCESSED TOPSOIL, FURNISHED AND PLACED DLS WATERING | 236.00 | CY GAL | \$60.00 \$14,160.00 | \$68.81 | \$16,239.16 | \$62.00 \$14,632.00 | \$72.10 \$17,015.60 | \$86.00 \$20,296.00 |
| 150 6 | | DLS HARDWOOD MULCH | 44.00 | CY | \$70.00 \$3,080.00 | \$58.22 | \$2,561.68 | \$70.00 \$3,080.00 | \$56.65 \$2,492.60 | \$68.00 \$2,992.00 |
| 149 6 | | DLS SALVAGED AND REINSTALLED ORNAMENTAL GRASSES, AS PER PLAN | 17.00 | EA | \$15.00 \$255.00 | \$50.81 | \$863.77 | \$37.00 \$629.00 | \$49.44 \$840.48 | \$36.00 \$612.00 |
| 148 6 | | DLS SALVAGED AND REINSTALLED SHRUB, AS PER PLAN | 13.00 | EA | \$40.00 \$520.00 | \$174.67 | \$2,270.71 | \$90.00 \$1,170.00 | \$169.95 \$2,209.35 | \$90.00 \$1,170.00 |
| 147 6 | 51 CC | OLS SALVAGED AND REINSTALLED EVERGREEN TREE, AS PER PLAN | 5.00 | EA | \$250.00 \$1,250.00 | \$539.89 | \$2,699.45 | \$475.00 \$2,375.00 | \$525.30 \$2,626.50 | \$470.00 \$2,350.00 |
| 146 6 | 51 CC | DLS SALVAGED AND REINSTALLED DECIDUOUS TREE, AS PER PLAN | 10.00 | EA | \$450.00 \$4,500.00 | \$756.90 | \$7,569.00 | \$660.00 \$6,600.00 | \$736.45 \$7,364.50 | \$650.00 \$6,500.00 |
| 145 6 | 51 CC | OLS NEPETA x FAASSENII 'WALKER'S LOW'; WALKER'S LOW CATMINT #2 CONT. | 26.00 | EA | \$25.00 \$650.00 | \$19.05 | \$495.30 | \$22.00 \$572.00 | \$18.54 \$482.04 | \$21.00 \$546.00 |
| 144 6 | 51 CC | DLS SEDUM REFLEXUM 'BLUE SPRUCE'; BLUE SPRUCE STONECROP; #1 CONT. | 21.00 | EA | \$25.00 \$525.00 | \$13.76 | \$288.96 | \$22.00 \$462.00 | \$13.39 \$281.19 | \$21.00 \$441.00 |
| 143 6 | 51 CC | DLS CALAMAGROSTIS x ACUTIFLORA 'KARL FOERSTER'; KARL FOERSTER FEATHER REED GRASS; #2 CONT. | 3.00 | EA | \$35.00 \$105.00 | \$37.05 | \$111.15 | \$19.00 \$57.00 | \$36.05 \$108.15 | \$19.00 \$57.00 |
| 142 6 | 51 CC | DLS VIBURNUM PLICATA 'NEWPORT'; NEWPORT VIBURNUM; 30" HT.; B&B | 8.00 | EA | \$90.00 \$720.00 | \$111.15 | \$889.20 | \$90.00 \$720.00 | \$108.15 \$865.20 | \$85.00 \$680.00 |
| 141 6 | 51 CC | DLS RHUS AROMATICA 'GRO-LOW'; GRO-LOW SUMAC; 18" HT.; CONT. | 8.00 | EA | \$70.00 \$560.00 | \$85.75 | \$686.00 | \$70.00 \$560.00 | \$83.43 \$667.44 | \$65.00 \$520.00 |
| 140 6 | | DLS HYDRANGEA QUERCIFOLIA; OAKLEAF HYDRANGEA; 30" HT.; CONT. | 7.00 | EA | \$250.00 \$1,750.00 | \$95.27 | \$666.89 | \$84.00 \$588.00 | \$92.70 \$648.90 | \$82.00 \$574.00 |
| 139 6 | | DLS HYDRANGEA PANICULATA 'JANE'; LITTLE LIME HYDRANGEA; 24" HT.; CONT. | 3.00 | EA | \$250.00 \$750.00 | \$95.27 | \$285.81 | \$84.00 \$252.00 | \$92.70 \$278.10 | \$82.00 \$246.00 |
| 137 6 | i ((| DLS THUJA OCCIDENTALIS TECHNY; MISSION ARBORVITAE; 6' HT.; B&B | 1.00 | EA EA | \$350.00 \$3,600.00 | \$238.18 | \$2,858.16 | \$330.00 \$3,960.00 | \$231.75 \$2,781.00 | \$320.00 \$3,840.00 |
| 136 6 137 6 | o1 CC | DLS PINUS FLEXILIS "VANDERWOLF'S PYRAMID"; VANDERWOLF'S PYRAMID LIMBER PINE; 6' HT.; B&B | 3.00 12.00 | EA EA | \$450.00 <u>\$1,350.00</u> \$300.00 <u>\$3,600.00</u> | \$571.64 \$238.18 | \$1,714.92 \$2.858.16 | \$600.00 \$1,800.00 \$330.00 \$3,960.00 | \$556.20 \$1,668.60 \$231.75 \$2.781.00 | \$575.00 \$1,725.00 \$320.00 \$3,840.00 |
| 135 6 | | DLS CHAMAECYPARIS NOOTKATENSIS 'PENDULA GLAUCA'; WEEPING NOOTKA CYPRESS; 6' HT.; B&B | 3.00 | EA | \$450.00 \$1,350.00 | \$555.77 | \$1,667.31 | \$540.00 \$1,620.00 | \$540.75 \$1,622.25 | \$530.00 \$1,590.00 |
| 134 6 | ,, | DLS ULMUS x 'ACCOLADE'; ACCOLADE ELM; 3" CAL.; B&B | 1.00 | EA | \$700.00 \$700.00 | \$735.72 | \$735.72 | \$850.00 \$850.00 | \$715.85 \$715.85 | \$825.00 \$825.00 |
| 133 6 | ,, | DLS QUERCUS RUBRA; RED OAK; 3" CAL; B&B | 1.00 | EA | \$700.00 \$700.00 | \$831.00 | \$831.00 | \$700.00 \$700.00 | \$808.55 \$808.55 | \$700.00 \$700.00 |
| 132 6 | | DLS QUERCUS BICOLOR; WHITE SWAMP OAK; 3" CAL; B&B | 1.00 | EA | \$700.00 \$700.00 | \$831.00 | \$831.00 | \$690.00 \$690.00 | \$808.55 \$808.55 | \$675.00 \$675.00 |
| | | | | | | | | | | |

| A-03 202 COLS PAVEMENT REMOVED, AS DIRECTED | 187 | SY | \$20.00 \$3,740.00 | \$19.50 | \$3,646.50 | 5.5 \$1,028.50 | 20 \$3,740.00 | 13 \$2,431.00 |
|--|---|---|--|--|---|---|---|---|
| A-04 202 COLS PAVEMENT REMOVED, ASPHALT | 4,987 | SY | \$10.00 \$49,870.00 | \$1.10 | \$5,485.70 | 1.5 \$7,480.50 | 3.51 \$17,504.37 | 4.9 \$24,436.30 |
| A-05 202 COLS PAVEMENT REMOVED, CONCRETE BASE | 4,987 | SY | \$20.00 \$99,740.00 | \$5.90 | \$29,423.30 | 4 \$19,948.00 | 8.22 \$40,993.14 | 7.7 \$38,399.90 |
| A-06 202 COLS WALKREMOVED | 2.800 | SF | \$4.00 \$11,200.00 | \$2.20 | \$6,160.00 | 1 \$2,800.00 | 3.25 \$9,100.00 | 5.1 \$14,280.00 |
| A-07 203 COLS EXCAVATION | 900 | CY | \$35.00 \$31,500.00 | \$23.50 | \$21,150.00 | 25 \$22,500.00 | 20.68 \$18,612.00 | 30 \$27,000.00 |
| A-08 204 ODOT EXCAVATION OF SUBGRADE, AS DIRECTED | 100 | CY | \$35.00 \$3,500.00 | \$46.50 | \$4,650.00 | 35 \$3,500.00 | 44.51 \$4,451.00 | 28 \$2,800.00 |
| A-09 204 ODOT GRANULAR MATERIAL, TYPE E, NO. 2 STONE, 703.01, AS DIRECTED | 50 | CY | \$45.00 \$2,250.00 | \$50.50 | \$2,525.00 | 40 \$2,000.00 | 80 \$4,000.00 | 48 \$2,400.00 |
| A-10 204 COLS PROOFROLLING | 3 | HR | \$215.00 \$645.00 | \$96.00 | \$288.00 | 200 \$600.00 | 100 \$300.00 | 90 \$270.00 |
| A-11 204 COLS SUBGRADE COMPACTION | 4.987 | SY | \$2.00 \$9,974.00 | \$0.90 | \$4.488.30 | 3 \$14,961.00 | 1.38 \$6,882.06 | 2.5 \$12,467.50 |
| A-12 206 ODOT CHEMICALLY STABILIZED SUBGRADE, AS DIRECTED (ALLOWANCE) | 1 | LS | \$80,000.00 \$80,000.00 | \$80,000.00 | \$80,000.00 | \$ 80,000.00 \$80,000.00 | \$ 80,000.00 \$80,000.00 | \$ 80,000.00 \$80,000.00 |
| A-13 259 COLS DRIVEWAY PAVEMENT REPLACEMENT. TYPE IIIA | 10 | CY | \$670.00 \$6,700.00 | \$300.00 | \$3,000.00 | 350 \$3,500.00 | 500 \$5,000.00 | 400 \$4,000.00 |
| A-14 301 ODOT ASPHALT CONCRETE BASE, PG64-22 | 831 | CY | \$155.00 \$128,805.00 | \$152.00 | \$126,312.00 | 150 \$124,650.00 | 154.56 \$128,439.36 | 146.5 \$121,741.50 |
| A-15 304 ODOT AGGREGATE BASE | 970 | CY | \$60.00 \$58,200.00 | \$47.00 | \$45,590.00 | 60 \$58,200.00 | 57.12 \$55,406.40 | 43 \$41,710.00 |
| A-16 304 ODOT AGGRGATE BASE, AS DIRECTED | 50 | CY | \$65.00 \$3,250.00 | \$55.00 | \$2,750.00 | 47 \$2,350.00 | 57.12 \$2,856.00 | 43 \$2,150.00 |
| A-17 407 ODOT NON-TRACKING TACK COAT | 1.000 | GAL | \$4.00 \$4,000.00 | \$4.50 | \$4,500.00 | 3 \$3,000.00 | 4.25 \$4,250.00 | 4.5 \$4,500.00 |
| A-18 410 COLS TRAFFIC COMPACTED SURFACE, TYPE A, AS DIRECTED | 550 | TON | \$30.00 \$16,500.00 | \$30.00 | \$16,500.00 | 42 \$23,100.00 | 50 \$27,500.00 | 21.3 \$11,715.00 |
| A-19 441 ODOT ASPHALT CONCRETE, INT. COURSE, TYPE 2 (448) | 242 | CY | \$175.00 \$42,350.00 | \$174.00 | \$42,108.00 | 160 \$38,720.00 | 166.56 \$40,307.52 | 210 \$50,820.00 |
| A-20 441 ODOT ASPHALT CONCRETE. SUR. COURSE. TYPE 1 (448) PG64-22 | 173 | CY | \$195.00 \$33,735.00 | \$207.50 | \$35.897.50 | 180 \$31.140.00 | 221.34 \$38,291.82 | 185 \$32,005.00 |
| A-21 12452 WEST 6" NON-REINFORCED CONCRETE PAVEMENT, CLASS MS | 187 | SY | \$75.00 \$14,025.00 | \$76.00 | \$14,212.00 | 80 \$14,960.00 | 65.92 \$12,327.04 | 70 \$13,090.00 |
| A-22 604 COLS CURB AND GUTTER INLET (AA-S125A) | 8 | EA | \$2,500.00 \$20,000.00 | \$4,200.00 | \$33,600.00 | 2800 \$22,400.00 | 4738.53 \$37,908.24 | 6100 \$48,800.00 |
| A-23 605 COLS 6" PIPE UNDERDRAIN, 720.12, TYPE SP | 3.643 | FT | \$11.00 \$40,073.00 | \$8.70 | \$31,694.10 | 10 \$36,430.00 | 8.19 \$29,836.17 | 9.5 \$34,608.50 |
| A-24 12608 WEST 4" CONCRETE WALK | 2.800 | SE | \$8.00 \$22,400.00 | \$8.70 | \$24,360.00 | 10 \$28,000.00 | 6.64 \$18.592.00 | 9.1 \$25.480.00 |
| A-25 12608 WEST 6" CONCRETE WALK | 50 | SE | \$9.00 \$450.00 | \$9.80 | \$490.00 | 35 \$1,750.00 | 7.72 \$386.00 | 8.4 \$420.00 |
| A-26 12608 WEST CURB RAMP | 14 | EA | \$300.00 \$4,200.00 | \$190.50 | \$2,667.00 | 150 \$2,100.00 | 257.5 \$3,605.00 | 120 \$1.680.00 |
| A-27 12609 WEST DETECTABLE WARNING, TYPE "E" | 140 | SF | \$30.00 \$4,200.00 | \$20.00 | \$2,800.00 | 40 \$5,600.00 | 25.75 \$3,605.00 | 24 \$3,360.00 |
| A-28 12609 WEST 3.5" DIAMETER CORED CURB | 68 | EA | \$60.00 \$4,080.00 | \$32.50 | \$2,210.00 | 150 \$10,200.00 | 22.66 \$1,540.88 | 45 \$3,060.00 |
| A-29 12609 WEST COMBINATION CURB AND GUTTER, TYPE STANDARD, CLASS COC 5 | 3,323 | FT | \$30.00 \$99,690.00 | \$22.00 | \$73,106.00 | 25 \$83,075.00 | 15.92 \$52,902.16 | 15 \$49,845.00 |
| A-30 12609 WEST COMMERCIAL DRIVE APPROACH GUTTER, CLASS COC 5 | 320 | FT | \$35.00 \$11,200.00 | \$22.00 | \$7,040.00 | 37 \$11,840.00 | 18.54 \$5,932.80 | 25 \$8,000.00 |
| A-31 611 ODOT 3" CONDUIT, TYPE E, 707.46 | 816.00 | FT | \$15.00 \$12,240.00 | \$12.00 | \$9,792.00 | 25 \$20,400.00 | 7.64 \$6,234.24 | 18 \$14,688.00 |
| | | | 313.00 312,240.00 | 312.00 | 35,732.00 | 23 320,400.00 | 7.04 30,234.24 | 18 314,088.00 |
| | 180 | CV | \$70.00 \$12.600.00 | \$70.50 | \$12,690,00 | 55 \$9.900.00 | 72 1 \$12 978 00 | 85 \$15 300 00 |
| A-32 12653 WEST PROCESSED TOPSOIL FURNISHED AND PLACED | 180 | CY | \$70.00 \$12,600.00 | \$70.50 | \$12,690.00 | 55 \$9,900.00 | 72.1 \$12,978.00 | 85 \$15,300.00 |
| A-32 12653 WEST PROCESSED TOPSOIL FURNISHED AND PLACED A-33 12659 WEST SEEDING AND MULCHING, AS DIRECTED | 200 | SY | \$5.00 \$1,000.00 | \$2.20 | \$440.00 | 9 \$1,800.00 | 2.06 \$412.00 | 1.75 \$350.00 |
| A-32 12653 WEST PROCESSED TOPSOIL FURNISHED AND PLACED A-33 12659 WEST SEEDING AND MULCHING, AS DIRECTED A-34 12659 WEST WATER | 200 2 | SY MGAL | \$5.00 <u>\$1,000.00</u> \$1,000.00 <u>\$2,000.00</u> | \$2.20 \$92.50 | \$440.00 \$185.00 | 9 \$1,800.00 3.5 \$7.00 | 2.06 \$412.00 87.55 \$175.10 | 1.75 \$350.00 88 \$176.00 |
| A-32 12653 WEST PROCESSED TOPSOIL FURNISHED AND PLACED A-33 12659 WEST SEEDING AND MULCHING, AS DIRECTED A-34 12659 WEST WATER A-35 12660 WEST SODDING, UNSTAKED | 200 2 1,619 | SY MGAL SY | \$5.00 <u>\$1,000.00</u> \$1,000.00 <u>\$2,000.00</u> \$12.00 <u>\$19,428.00</u> | \$2.20 \$92.50 \$10.75 | \$440.00 \$185.00 \$17,404.25 | 9 \$1,800.00 3.5 \$7.00 13 \$21,047.00 | 2.06 \$412.00 87.55 \$175.10 10.15 \$16,432.85 | 1.75 \$350.00 88 \$176.00 10.25 \$16,594.75 |
| A-32 12653 WEST PROCESSED TOPSOIL FURNISHED AND PLACED A-33 12659 WEST SEEDING AND MULCHING, AS DIRECTED A-34 12659 WEST WATER A-35 12660 WEST SODDING, UNSTAKED A-36 12832 WEST TEMPORARY SEDIMENT AND EROSION CONTROLS | 200 2 1,619 1 | SY MGAL SY LS | \$5.00 \$1,000.00 \$1,000.00 \$2,000.00 \$12.00 \$19,428.00 \$2,000.00 \$2,000.00 | \$2.20 \$92.50 \$10.75 \$900.00 | \$440.00 \$185.00 \$17,404.25 \$900.00 | 9 \$1,800.00 3.5 \$7.00 13 \$21,047.00 25000 \$25,000.00 | 2.06 \$412.00 87.55 \$175.10 10.15 \$16,432.85 5000 \$5,000.00 | 1.75 \$350.00 88 \$176.00 10.25 \$16,594.75 1270 \$1,270.00 |
| A-32 12653 WEST PROCESSED TOPSOIL FURNISHED AND PLACED A-33 12659 WEST SEEDING AND MULCHING, AS DIRECTED A-34 12659 WEST WATER A-35 12660 WEST SODDING, UNSTAKED A-36 12832 WEST TEMPORARY SEDIMENT AND EROSION CONTROLS A-37 121540 WEST ASPHALT REJUVENATING AGENT | 200 2 1,619 | SY MGAL SY | \$5.00 \$1,000.00 \$1,000.00 \$2,000.00 \$12.00 \$19,428.00 \$2,000.00 \$2,000.00 \$1.10 \$5,485.70 | \$2.20 \$92.50 \$10.75 \$900.00 \$0.90 | \$440.00 \$185.00 \$17,404.25 \$900.00 \$4,488.30 | 9 \$1,800.00 3.5 \$7.00 13 \$21,047.00 25000 \$25,000.00 1.1 \$5,485.70 | 2.06 \$412.00 87.55 \$175.10 10.15 \$16.432.85 5000 \$5,000.00 1.04 \$5,186.48 | 1.75 \$350.00 88 \$176.00 10.25 \$16,594.75 1270 \$1,270.00 1.05 \$5,236.35 |
| A-32 12653 WEST PROCESSED TOPSOIL FURNISHED AND PLACED A-33 12659 WEST SEEDING AND MULCHING, AS DIRECTED A-34 12659 WEST WATER A-35 12660 WEST SODDING, UNSTAKED A-36 12832 WEST TEMPORARY SEDIMENT AND EROSION CONTROLS A-37 121240 WEST ASPHALT REJUVENATING AGENT A-38 SPC GEOGRID, TENSAR BX1300 OR APPROVED EQUAL, AS DIRECTED | 200 2 1,619 1 4,987 | SY MGAL SY LS SY | \$5.00 \$1,000.00 \$1,000.00 \$2,000.00 \$12.00 \$19,428.00 \$2,000.00 \$2,000.00 \$1.10 \$5,485.70 \$10.00 \$100.00 | \$2.20 \$92.50 \$10.75 \$900.00 | \$440.00 \$185.00 \$17,404.25 \$900.00 \$4,488.30 \$100.00 | 9 \$1,800.00 3.5 \$7.00 13 \$21,047.00 25000 \$25,000.00 1.1 \$5,485.70 65 \$650.00 | 2.06 5412.00 87.55 5175.10 10.15 \$16,432.85 \$000 \$5,000.00 1.04 \$5,186.48 10 \$100.00 | 1.75 \$350.00 88 \$176.00 10.25 \$16,594.75 1270 \$1,270.00 1.05 \$5,236.35 5.6 \$56.00 |
| A-32 12653 WEST PROCESSED TOPSOIL FURNISHED AND PLACED A-33 12659 WEST SEEDING AND MULCHING, AS DIRECTED A-34 12659 WEST WATER A-35 12660 WEST SODDING, UNSTAKED A-36 12832 WEST TEMPORARY SEDIMENT AND EROSION CONTROLS A-37 121540 WEST ASPHALT REJUVENATING AGENT | 200 2 1,619 1 4,987 | SY MGAL SY LS SY | \$5.00 \$1,000.00 \$1,000.00 \$2,000.00 \$12.00 \$19,428.00 \$2,000.00 \$2,000.00 \$1.10 \$5,485.70 | \$2.20 \$92.50 \$10.75 \$900.00 \$0.90 | \$440.00 \$185.00 \$17,404.25 \$900.00 \$4,488.30 | 9 \$1,800.00 3.5 \$7.00 13 \$21,047.00 25000 \$25,000.00 1.1 \$5,485.70 | 2.06 \$412.00 87.55 \$175.10 10.15 \$16.432.85 5000 \$5,000.00 1.04 \$5,186.48 | 1.75 \$350.00 88 \$176.00 10.25 \$16,594.75 1270 \$1,270.00 1.05 \$5,236.35 |
| A-32 12653 WEST PROCESSED TOPSOIL FURNISHED AND PLACED A-33 12659 WEST SEEDING AND MULCHING, AS DIRECTED A-34 12659 WEST WATER A-35 12660 WEST SODDING, UNSTAKED A-36 12832 WEST TEMPORARY SEDIMENT AND EROSION CONTROLS A-37 121540 WEST ASPHALT REJUVENATING AGENT A-38 SPC GEOGRID, TENSAR BIL300 OR APPROVED EQUAL, AS DIRECTED INFORMAL TOTAL ALTERNATE A, BID ITEMS A-01 through A-38 | 200 2 1,619 1 4,987 | SY MGAL SY LS SY | \$5.00 \$1,000.00 \$1,000.00 \$2,000.00 \$12.00 \$19,428.00 \$2,000.00 \$2,000.00 \$1.10 \$5,485.70 \$10.00 \$100.00 | \$2.20 \$92.50 \$10.75 \$900.00 \$0.90 | \$440.00 \$185.00 \$17,404.25 \$900.00 \$4,488.30 \$100.00 | 9 \$1,800.00 3.5 \$7.00 13 \$21,047.00 25000 \$25,000.00 1.1 \$5,485.70 65 \$650.00 | 2.06 5412.00 87.55 5175.10 10.15 \$16,432.85 \$000 \$5,000.00 1.04 \$5,186.48 10 \$100.00 | 1.75 \$350.00 88 \$176.00 10.25 \$16,594.75 1270 \$1,270.00 1.05 \$5,236.35 5.6 \$56.00 |
| A-32 12653 WEST PROCESSED TOPSOIL FURNISHED AND PLACED A-33 12659 WEST SEEDING AND MULCHING, AS DIRECTED A-34 12659 WEST WATER A-35 12660 WEST SODDING, UNSTAKED A-36 12832 WEST TEMPORARY SEDIMENT AND EROSION CONTROLS A-37 121240 WEST ASPHALT REJUVENATING AGENT A-38 SPC GEOGRID, TENSAR BX1300 OR APPROVED EQUAL, AS DIRECTED | 200 2 1,619 1 4,987 | SY MGAL SY LS SY | \$5.00 \$1,000.00 \$1,000.00 \$2,000.00 \$12.00 \$19,428.00 \$2,000.00 \$2,000.00 \$1.10 \$5,485.70 \$10.00 \$100.00 | \$2.20 \$92.50 \$10.75 \$900.00 \$0.90 | \$440.00 \$185.00 \$17,404.25 \$900.00 \$4,488.30 \$100.00 | 9 \$1,800.00 3.5 \$7.00 13 \$21,047.00 25000 \$25,000.00 1.1 \$5,485.70 65 \$650.00 | 2.06 5412.00 87.55 5175.10 10.15 \$16,432.85 \$000 \$5,000.00 1.04 \$5,186.48 10 \$100.00 | 1.75 \$350.00 88 \$176.00 10.25 \$16,594.75 1270 \$1,270.00 1.05 \$5,236.35 5.6 \$56.00 |
| A-32 12653 WEST PROCESSED TOPSOIL FURNISHED AND PLACED A-33 12659 WEST SEEDING AND MULCHING, AS DIRECTED A-34 12659 WEST WATER A-35 12660 WEST SODDING, UNSTAKED A-36 12832 WEST TEMPORARY SEDIMENT AND EROSION CONTROLS A-37 121540 WEST ASPHALT REJUVENATING AGENT A-38 SPC GEOGRID, TENSAR BX1300 OR APPROVED EQUAL, AS DIRECTED INFORMAL TOTAL ALTERNATE A, BID ITEMS A-01 through A-38 BID ALTERNATE NO. B - ASH COURT WATERLINE IMP AND STREET RECONSTRUCTION | 200 2 1,619 1 4,987 | SY MGAL SY LS SY | \$5.00 \$1,000.00 \$1,000.00 \$2,000.00 \$12.00 \$19,428.00 \$2,000.00 \$2,000.00 \$1.10 \$5,485.70 \$10.00 \$100.00 | \$2.20 \$92.50 \$10.75 \$900.00 \$0.90 | \$440.00 \$185.00 \$17,404.25 \$900.00 \$4,488.30 \$100.00 | 9 \$1,800.00 3.5 \$7.00 13 \$21,047.00 25000 \$25,000.00 1.1 \$5,485.70 65 \$650.00 | 2.06 5412.00 87.55 5175.10 10.15 \$16,432.85 \$000 \$5,000.00 1.04 \$5,186.48 10 \$100.00 | 1.75 \$350.00 88 \$176.00 10.25 \$16,594.75 1270 \$1,270.00 1.05 \$5,236.35 5.6 \$56.00 |
| A-32 12653 WEST PROCESSED TOPSOIL FURNISHED AND PLACED A-33 12659 WEST SEEDING AND MULCHING, AS DIRECTED A-34 12659 WEST WATER A-35 12660 WEST SODDING, UNSTAKED A-36 12832 WEST TEMPORARY SEDIMENT AND EROSION CONTROLS A-37 121540 WEST ASPHALT REJUVENATING AGENT A-38 SPC GEOGRID, TENSAR BX1300 OR APPROVED EQUAL, AS DIRECTED INFORMAL TOTAL ALTERNATE A, BID ITEMS A-01 through A-38 BID ALTERNATE NO. B - ASH COURT WATERLINE IMP AND STREET RECONSTRUCTION WATERLINE IMPROVEMENTS | 200 2 1,619 1 4,987 10 | SY MGAL SY LS SY | \$5.00 \$1,000.00 \$1,000.00 \$2,000.00 \$12.00 \$19,428.00 \$2,000.00 \$2,000.00 \$1.10 \$5,485.70 \$10.00 \$100.00 \$890,231.70 | \$2.20 \$92.50 \$10.75 \$900.00 \$0.90 \$10.00 | \$440.00 \$185.00 \$17,404.25 \$900.00 \$4,488.30 \$100.00 \$696.325.15 | 9 \$1,800.00 3.5 \$7.00 13 \$21,047.00 25000 \$25,000.00 1.1 \$5,485.70 65 \$650.00 \$750,030.20 | 2.06 \$412.00 87.55 \$175.10 10.15 \$16,432.85 \$000 \$5,000.00 1.04 \$5,186.48 10 \$100.00 \$738,429.37 | 1.75 \$350.00 88 \$176.00 10.25 \$16,594.75 1270 \$1,270.00 1.05 \$5,236.35 5.6 \$56.00 \$761,995.55 |
| A-32 12653 WEST PROCESSED TOPSOIL FURNISHED AND PLACED A-33 12659 WEST SEEDING AND MULCHING, AS DIRECTED A-34 12659 WEST WATER A-35 12660 WEST SODDING, UNSTAKED A-36 12832 WEST TEMPORARY SEDIMENT AND EROSION CONTROLS A-37 121540 WEST ASPHALT REJUVENATING AGENT A-38 SPC GEOGRID, TENSAR EXISOO OR APPROVED EQUAL, AS DIRECTED INFORMAL TOTAL ALTERNATE A, BID ITEMS A-0.1 through A-38 BID ALTERNATE NO. B - ASH COURT WATERLINE IMP AND STREET RECONSTRUCTION WATERLINE IMPROVEMENTS B-01 202 COLS WALK REMOVED | 200 2 1,619 1 4,987 10 | SY MGAL SY LS SY SY | \$5.00 \$1,000.00 \$1,000.00 \$2,000.00 \$12.00 \$19,428.00 \$2,000.00 \$1.10 \$5,485.70 \$110.00 \$100.00 \$890,231.70 | \$2.20 \$92.50 \$10.75 \$990.00 \$0.90 \$10.00 | \$440.00 \$185.00 \$17,404.25 \$900.00 \$4,488.30 \$100.00 \$696.325.15 | 9 \$1,800.00 3.5 \$7.00 13 \$21,047.00 2500 \$25,000.00 1.1 \$5,488.70 65 \$650.00 \$750,030.20 | 2.06 \$412.00 87.55 \$175.10 10.15 \$16,432.85 \$000 \$5,000.00 1.04 \$55,186.48 10 \$100.00 \$738,429.37 | 1.75 \$350.00 88 \$176.00 10.25 \$16,594.75 1270 \$1,270.00 1.05 \$5,236.35 5.6 \$56.00 \$761,995.55 |
| A-32 12653 WEST PROCESSED TOPSOIL FURNISHED AND PLACED A-33 12659 WEST SEEDING AND MULCHING, AS DIRECTED A-34 12659 WEST WATER A-35 12660 WEST SODDING, UNSTAKED A-36 12832 WEST TEMPORARY SEDIMENT AND EROSION CONTROLS A-37 121540 WEST ASPHALT REJUVENATING AGENT A-38 SPC GEOGRID, TENSAR BX1300 OR APPROVED EQUAL, AS DIRECTED INFORMAL TOTAL ALTERNATE A, BID ITEMS A-01 through A-38 BID ALTERNATE NO. B - ASH COURT WATERLINE IMP AND STREET RECONSTRUCTION WATERLINE IMPROVEMENTS B-01 202 COLS WALK REMOVED B-02 203 ODDI EXCAVATION, AS DIRECTED | 200 2 1,619 1 4,987 10 | SY MGAL SY LS SY SY | \$5.00 \$1,000.00 \$1,000.00 \$2,000.00 \$12.00 \$19,428.00 \$2,000.00 \$2,000.00 \$1.10 \$5,485.70 \$11.00 \$100.00 \$890,231.70 | \$2.20 \$92.50 \$10.75 \$900.00 \$0.90 \$10.00 \$11.00 | \$440.00 \$185.00 \$17,404.25 \$900.00 \$4,488.30 \$100.00 \$696.325.15 | 9 \$1,800.00 3.5 \$7.00 13 \$21,047.00 2500 \$25,000.00 1.1 \$5,485.70 65 \$650.00 \$750,030.20 \$4.00 \$1,000.00 \$25,000.00 | 2.06 \$412.00 87.55 \$175.10 10.15 \$16,432.85 \$5000 \$5,000.00 1.04 \$5,186.48 10 \$100.00 \$738,429.37 \$4.55 \$1,137.50 \$55.63 \$556.30 | 1.75 \$350.00 88 \$176.00 10.25 \$16,594.75 1270 \$1,270.00 1.05 \$5,236.35 5.6 \$56.00 \$761,995.55 \$5.10 \$1,275.00 \$26.00 \$260.00 |
| A-32 12653 WEST PROCESSED TOPSOIL FURNISHED AND PLACED A-33 12659 WEST SEEDING AND MULCHING, AS DIRECTED A-34 12659 WEST WATER A-35 12660 WEST SODDING, UNSTAKED A-36 12832 WEST TEMPORARY SEDIMENT AND EROSION CONTROLS A-37 121540 WEST ASPHALT REJUVENATING AGENT A-38 SPC GEOGRID, TENSAR RIX1300 OR APPROVED EQUAL, AS DIRECTED INFORMAL TOTAL ALTERNATE A, BID ITEMS A-01 through A-38 BID ALTERNATE NO. B - ASH COURT WATERLINE IMP AND STREET RECONSTRUCTION WATERLINE IMPROVEMENTS B-01 202 COLS WALK REMOVED B-02 203 ODOT EXCAVATION, AS DIRECTED B-03 259 COLS PERMANENT PAVEMENT REPLACEMENT, TYPE I | 200 2 1,619 1 4,987 10 250 10 50 | SY MGAL SY LS SY SY SF CY | \$5.00 \$1,000.00 \$1,000.00 \$2,000.00 \$12.00 \$19,428.00 \$2,000.00 \$2,000.00 \$1.10 \$5,485.70 \$10.00 \$100.00 \$890,231.70 \$4.00 \$1,000.00 \$50.00 \$50.00 \$450.00 \$22,500.00 | \$2.20 \$92.50 \$10.75 \$900.00 \$0.90 \$10.00 \$11.00 \$46.50 \$200.00 | \$440.00 \$185.00 \$17,404.25 \$990.00 \$4,488.30 \$100.00 \$696,325.15 \$2,750.00 \$465.00 \$10,000.00 | 9 \$1,800.00 3.5 \$7.00 13 \$21,047.00 2500 \$25,000.00 1.1 \$5,485.70 65 \$650.00 \$750,030.20 \$4.00 \$1,000.00 \$25.00 \$250.00 \$5150.00 \$7,500.00 | 2.06 \$412.00 87.55 \$175.10 10.15 \$16,432.85 \$500 \$5,000.00 1.04 \$5,186.48 10 \$100.00 \$738.429.37 \$4.55 \$1,137.50 \$55.63 \$556.30 \$600.00 \$30,000.00 | 1.75 \$350.00 88 \$176.00 10.25 \$16.594.75 1270 \$1,770.00 1.05 \$5,236.35 5.6 \$56.00 \$761,995.55 \$5,10 \$1,275.00 \$26.00 \$260.00 \$345.00 \$17,250.00 |
| A-32 12653 WEST PROCESSED TOPSOIL FURNISHED AND PLACED A-33 12659 WEST SEEDING AND MULCHING, AS DIRECTED A-34 12659 WEST WATER A-35 12660 WEST SODDING, UNSTAKED A-36 12832 WEST TEMPORARY SEDIMENT AND EROSION CONTROLS A-37 121540 WEST ASPHALT REJUVENATING AGENT A-38 SPC GEOGRID, TENSAR RISJ 300 OR APPROVED EQUAL, AS DIRECTED INFORMAL TOTAL ALTERNATE A, BID ITEMS A-01 through A-38 BID ALTERNATE NO. B - ASH COURT WATERLINE IMP AND STREET RECONSTRUCTION WATERLINE IMPROVEMENTS B-01 202 COLS WALK REMOVED B-02 203 ODDT EXCAVATION, AS DIRECTED B-03 259 COLS PERMANENT PAVEMENT REPLACEMENT, TYPE I B-04 410 COLS TRAFFIC COMPACTED SURFACE, TYPE A, AS DIRECTED | 200 2 1,619 1 4,987 10 250 10 50 50 | SY MGAL SY LS SY SY CY CY | \$5.00 \$1,000.00 \$1,000.00 \$2,000.00 \$12.00 \$19,428.00 \$2,000.00 \$2,000.00 \$1.10 \$5,485.70 \$10.00 \$100.00 \$890,231.70 \$4.00 \$1,000.00 \$50.00 \$500.00 \$450.00 \$22,500.00 \$30.00 \$1,500.00 | \$2.20 \$92.50 \$10.75 \$900.00 \$0.90 \$10.00 \$11.00 \$46.50 \$200.00 \$30.00 | \$440.00 \$185.00 \$17,404.25 \$900.00 \$4,488.30 \$100.00 \$5995.325.15 \$2,750.00 \$465.00 \$10,000.00 \$1,500.00 | 9 \$1,800.00 3.5 \$7.00 13 \$21,047.00 2500 \$25,000.00 1.1 \$5,485.70 65 \$650.00 \$750,030.20 \$4.00 \$1,000.00 \$25,00 \$25,000.00 \$150.00 \$7,500.00 \$70.00 \$3,500.00 | 2.06 \$412.00 87.55 \$175.10 10.15 \$16,432.85 5000 \$5,000.00 1.04 \$5,186.48 10 \$100.00 \$738.429.37 \$4.55 \$1,137.50 \$55.63 \$556.30 \$600.00 \$30,000.00 \$80.00 \$4,000.00 | 1.75 \$350.00 88 \$176.00 10.25 \$16.594.75 1270 \$1,270.00 1.05 \$5,236.35 5.6 \$56.00 \$761,995.55 \$5,10 \$1,275.00 \$26.00 \$260.00 \$345.00 \$17,250.00 \$21.30 \$1,065.00 |
| A-32 12653 WEST PROCESSED TOPSOIL FURNISHED AND PLACED A-33 12659 WEST SEEDING AND MULCHING, AS DIRECTED A-34 12659 WEST WATER A-35 12660 WEST SODDING, UNSTAKED A-36 12832 WEST TEMPORARY SEDIMENT AND EROSION CONTROLS A-37 121240 WEST ASPHALT REJUVENATING AGENT A-38 SPC GEOGRID, TENSAR BX1300 OR APPROVED EQUAL, AS DIRECTED INFORMAL TOTAL ALTERNATE A, BID ITEMS A-01 through A-38 BID ALTERNATE NO. B - ASH COURT WATERLINE IMP AND STREET RECONSTRUCTION WATERLINE IMPROVEMENTS B-01 202 COLS WALK REMOVED B-02 203 ODOT EXCAVATION, AS DIRECTED B-03 259 COLS PERMANENT PAVEMENT REPLACEMENT, TYPE I B-04 410 COLS TRAFFIC COMPACTED SURFACE, TYPE A, AS DIRECTED B-05 12608 WEST 4" CONCRETE WALK, CLASS COC 5 | 200 2 1,619 1 4,987 10 250 10 50 50 | SY MIGAL SY US SY SY CY CY CY SF | \$5.00 \$1,000.00 \$1,000.00 \$2,000.00 \$12.00 \$19,428.00 \$2,000.00 \$2,000.00 \$1.10 \$55,485.70 \$10.00 \$100.00 \$890,231.70 \$4.00 \$1,000.00 \$45.00 \$22,500.00 \$45.00 \$22,500.00 \$80 \$2,000.00 | \$2.20 \$92.50 \$10.75 \$900.00 \$0.90 \$10.00 \$11.00 \$46.50 \$200.00 \$30.00 \$11.00 | \$440.00 \$185.00 \$17,404.25 \$900.00 \$4,488.30 \$100.00 \$696.325.15 \$2,750.00 \$465.00 \$110,000.00 \$1,500.00 \$2,750.00 | 9 \$1,800.00 3.5 \$7.00 13 \$21,047.00 25000 \$25,000.00 1.1 \$5,485.70 65 \$650.00 \$750,030.20 \$4.00 \$1,000.00 \$25,00 \$25,00.00 \$150,00 \$7,900.00 \$70.00 \$3,500.00 \$22,00 \$5,500.00 | 2.06 \$412.00 87.55 \$175.10 10.15 \$16.42.285 5000 \$5,000.00 1.04 \$5,186.48 10 \$100.00 \$738.429.37 \$4.55 \$1,137.50 \$55.63 \$556.30 \$600.00 \$30,000.00 \$80.00 \$4,000.00 \$92.7 \$2,317.50 | 1.75 \$350.00 88 \$176.00 10.25 \$16.594.75 1270 \$1,270.00 1.05 \$5,236.35 5.6 \$56.00 \$761,995.55 \$5,10 \$1,275.00 \$26.00 \$260.00 \$346.00 \$17,250.00 \$21.30 \$1,065.00 \$7.00 \$1,750.00 |
| A-32 12653 WEST PROCESSED TOPSOIL FURNISHED AND PLACED A-33 12659 WEST SEEDING AND MULCHING, AS DIRECTED A-34 12659 WEST WATER A-35 12660 WEST SODDING, UNSTAKED A-36 12832 WEST TEMPORARY SEDIMENT AND EROSION CONTROLS A-37 121540 WEST ASPHALT REJUVENATING AGENT A-38 SPC GEOGRID, TENSAR EXI300 OR APPROVED EQUAL, AS DIRECTED INFORMAL TOTAL ALTERNATE A, BID ITEMS A-0.1 through A-38 BID ALTERNATE NO. B - ASH COURT WATERLINE IMP AND STREET RECONSTRUCTION WATERLINE IMPROVEMENTS B-01 202 COLS WALK REMOVED B-02 203 ODDIT EXCAVATION, AS DIRECTED B-03 259 COLS PERMANENT PAVEMENT REPLACEMENT, TYPE I B-04 410 COLS TRAFFIC COMPACTED SURFACE, TYPE A, AS DIRECTED B-05 12608 WEST 4" CONCRETE WAIK, CLASS COC S B-06 611 ODDIT 52" CONDUIT, TYPE B, 706.02 W/RESILIANT AND FLEXIBLE GASKET JOINTS, 706.11 | 200 2 1,619 1 4,987 10 250 10 50 50 | SY MIGAL SY US SY SY CY CY CY FF | \$5.00 \$1,000.00 \$1,000.00 \$2,000.00 \$12.00 \$19,428.00 \$2,000.00 \$2,000.00 \$1.10 \$5,485.70 \$110.00 \$100.00 \$890,231.70 \$4.00 \$1,000.00 \$50.00 \$500.00 \$450.00 \$25,500.00 \$450.00 \$22,500.00 \$80.00 \$2,000.00 \$30.00 \$1,500.00 | \$2.20 \$92.50 \$10.75 \$990.00 \$0.90 \$10.00 \$11.00 \$46.50 \$200.00 \$30.00 \$11.00 \$475.00 | \$440.00 \$185.00 \$17,404.25 \$900.00 \$4,488.30 \$100.00 \$696.325.15 \$2,750.00 \$465.00 \$1000.00 \$1,500.00 \$2,750.00 \$1,500.00 \$2,750.00 | 9 \$1,800.00 3.5 \$7.00 13 \$21,047.00 2500 \$25,000.00 1.1 \$5,485.70 65 \$650.00 \$750,030.20 \$4.00 \$1,000.00 \$25.00 \$25.00 \$515.00 \$7,500.00 \$71,000.00 \$25.00 \$25.00 \$77.00 \$3,500.00 \$25.00 \$7,500.00 \$25.00 \$13,600.00 \$25.00 \$31,500.00 | 2.06 \$412.00 87.55 \$175.10 10.15 \$16,432.85 \$000 \$5,000.00 1.04 \$55,186.48 10 \$100.00 \$728,429.37 \$4.55 \$1,137.50 \$55.03 \$556.30 \$600.00 \$30,000.00 \$80.00 \$4,000.00 \$9.27 \$2,317.50 \$434.09 \$14,759.06 | 1.75 \$350.00 88 \$176.00 10.25 \$16,594.75 1270 \$1,270.00 1.05 \$5,236.35 5.6 \$56.00 \$761,995.55 \$5.10 \$1,275.00 \$26.00 \$26.00 \$345.00 \$17,250.00 \$21.30 \$1,065.00 \$7.00 \$1,750.00 \$675.00 \$22,950.00 |
| A-32 12653 WEST PROCESSED TOPSOIL FURNISHED AND PLACED A-33 12659 WEST SEEDING AND MULCHING, AS DIRECTED A-34 12659 WEST WATER A-35 12660 WEST SODDING, UNSTAKED A-36 12832 WEST TEMPORARY SEDIMENT AND EROSION CONTROLS A-37 121540 WEST ASPHAIT REJUVENATING AGENT A-38 SPC GEOGRID, TENSAR BX1300 OR APPROVED EQUAL, AS DIRECTED INFORMAL TOTAL ALTERNATE A, BID ITEMS A-01 through A-38 BID ALTERNATE NO. B - ASH COURT WATERLINE IMP AND STREET RECONSTRUCTION WATERLINE IMPROVEMENTS B-01 202 COLS WALK REMOVED B-02 203 ODOT EXCAVATION, AS DIRECTED B-04 410 COLS TRAFFIC COMPACTED SURFACE, TYPE A, AS DIRECTED B-05 12608 WEST 4" CONCRETE WALK, CLASS COC 5 B-06 611 ODOT 52" CONDUIT, TYPE B, 706.02 W/RESILIANT AND FEXIBLE GASKET JOINTS, 706.11 B-07 613 COLS LOW STRENGTH MORTAR BACKPILL, TYPE 2, AS DIRECTED | 200 2 1,619 1 4,987 10 250 10 50 50 | SY MGAL SY LS SY SY CY CY CY CY CY CY CY | \$5.00 \$1,000.00 \$1,000.00 \$2,000.00 \$12.00 \$19,428.00 \$2,000.00 \$2,000.00 \$1.10 \$54,85.70 \$1.00 \$100.00 \$890,231.70 \$4.00 \$1,000.00 \$450.00 \$22,500.00 \$30.00 \$1,000.00 \$30.00 \$1,000.00 \$30.00 \$1,000.00 \$30.00 \$1,000.00 \$30.00 \$1,000.00 \$30.00 \$1,000.00 \$30.00 \$1,000.00 | \$2.20 \$92.50 \$10.75 \$990.00 \$0.90 \$10.00 \$11.00 \$46.50 \$20.00 \$30.00 \$11.00 \$475.00 \$138.00 | \$440.00 \$185.00 \$17,404.25 \$900.00 \$4,488.30 \$100.00 \$696.325.15 \$2,750.00 \$465.00 \$10,000.00 \$1,500.00 \$2,750.00 \$1,500.00 \$1,500.00 \$3,500.00 | 9 \$1,800.00 3.5 \$7.00 13 \$21,047.00 25000 \$25,000.00 1.1 \$5,485.70 65 \$650.00 \$750,030.20 \$4.00 \$1,000.00 \$25,00 \$25,000 \$515,00 \$27,500.00 \$70,00 \$3,500.00 \$22,00 \$55,500.00 \$400.00 \$13,600.00 \$400.00 \$13,600.00 \$31,000.00 \$510.00 \$555,000 \$400.00 \$13,600.00 \$510.00 \$555,000 \$400.00 \$13,600.00 | 2.06 \$412.00 87.55 \$175.10 10.15 \$16,422.85 \$000 \$5,000.00 1.04 \$5,186.48 10 \$100.00 \$738.429.37 \$4.55 \$1,137.50 \$55.63 \$556.30 \$600.00 \$30,000.00 \$90.00 \$4,000.00 \$92.77 \$2,317.50 \$434.09 \$14,759.06 \$102.00 \$510.00 | 1.75 \$350.00 88 \$176.00 10.25 \$16,594.75 1270 \$1,270.00 1.05 \$5,236.35 5.6 \$550.0 \$761,995.55 \$5.10 \$1,275.00 \$26.00 \$260.00 \$345.00 \$17,250.00 \$21.30 \$1,066.00 \$70.00 \$1,750.00 \$675.00 \$22,950.00 \$230.00 \$1,150.00 |
| A-32 12653 WEST PROCESSED TOPSOIL FURNISHED AND PLACED A-33 12659 WEST SEEDING AND MULCHING, AS DIRECTED A-34 12659 WEST WATER A-35 12660 WEST SODDING, UNSTAKED A-36 12832 WEST TEMPORARY SEDIMENT AND EROSION CONTROLS A-37 121540 WEST ASPHALT REJUVENATING AGENT A-38 SPC GEOGRID, TENSAR BX1300 OR APPROVED EQUAL, AS DIRECTED INFORMAL TOTAL ALTERNATE A, BID ITEMS A-01 through A-38 BID ALTERNATE NO. B - ASH COURT WATERLINE IMP AND STREET RECONSTRUCTION WATERLINE IMPROVEMENTS B-01 202 COLS WALK REMOVED B-02 203 ODOT EXCAVATION, AS DIRECTED B-04 410 COLS TRAFFIC COMPACTED SURFACE, TYPE 4, AS DIRECTED B-05 12608 WEST 4" CONCRETE WAIK, CLASS COC 5 B-06 611 ODOT S2" CONDUIT, TYPE 8, 70.022 W/RESILANT AND FLEXIBLE GASKET JOINTS, 706.11 B-07 613 COLS LOW STRENGTH MORTAR BACKFILL, TYPE 2, AS DIRECTED B-08 616 ODOT WATER | 200 2 1,619 1 4,987 10 250 10 50 50 250 34 5 | SY MGAL SY LS SY SY CY CY CY CY CY MGAL | \$5.00 \$1,000.00 \$1,000.00 \$2,000.00 \$12.00 \$19,428.00 \$2,000.00 \$2,000.00 \$1.10 \$5,488.70 \$1.00 \$100.00 \$890,231.70 \$4.00 \$1,000.00 \$50.00 \$500.00 \$450.00 \$22,500.00 \$30.00 \$1,500.00 \$800 \$2,000.00 \$300.00 \$10,000.00 \$50.00 \$500.00 \$500.00 \$500.00 \$500.00 \$10,000.00 \$500.00 \$10,000.00 | \$2.20 \$92.50 \$10.75 \$900.00 \$0.90 \$10.00 \$11.00 \$46.50 \$200.00 \$30.00 \$11.00 \$475.00 \$138.00 | \$440.00 \$185.00 \$17,404.25 \$900.00 \$4,488.30 \$100.00 \$696,325.15 \$2,750.00 \$465.00 \$10,000.00 \$1,500.00 \$2,750.00 \$3,750 | 9 \$1,800.00 3.5 \$7.00 13 \$21,047.00 2500 \$25,000.00 1.1 \$5,485.70 65 \$650.00 \$750.030.20 \$400 \$1,000.00 \$51,000.00 | 2.06 \$412.00 87.55 \$175.10 10.15 \$16,432.85 \$5000 \$5,000.00 1.04 \$5,186.48 10 \$100.00 \$728,429.37 \$4.55 \$1,137.50 \$55.63 \$556.30 \$500.00 \$4,000.00 \$9.27 \$2,317.50 \$434.09 \$14,759.06 \$102.00 \$510.00 \$100.00 \$100.00 | 1.75 \$350.00 88 \$176.00 10.25 \$16,594.75 1270 \$1,270.00 1.05 \$5,236.35 5.6 \$56.00 \$761,995.55 \$5,10 \$1,275.00 \$26.00 \$260.00 \$345.00 \$17,250.00 \$213.00 \$1,750.00 \$22,950.00 \$230.00 \$1,750.00 \$230.00 \$1,150.00 \$230.00 \$1,150.00 \$233.00 \$1,150.00 |
| A-32 12653 WEST PROCESSED TOPSOIL FURNISHED AND PLACED A-33 12659 WEST SEEDING AND MULCHING, AS DIRECTED A-34 12659 WEST WATER A-35 12660 WEST SODDING, UNSTAKED A-36 12832 WEST TEMPORARY SEDIMENT AND EROSION CONTROLS A-37 121540 WEST ASPHALT REJUVENATING AGENT A-38 SPC GEOGRID, TENSAR RIX1300 OR APPROVED EQUAL, AS DIRECTED INFORMAL TOTAL ALTERNATE A, BID ITEMS A-01 through A-38 BID ALTERNATE NO. B- ASH COURT WATERLINE IMP AND STREET RECONSTRUCTION WATERLINE IMPROVEMENTS B-01 202 COLS WALK REMOVED B-02 203 ODOT EXCAVATION, AS DIRECTED B-03 259 COLS PERMANENT PAVEMENT REPLACEMENT, TYPE I B-04 410 COLS TRAFFIC COMPACTED SURFACE, TYPE A, AS DIRECTED B-05 12608 WEST 4" CONCRETE WAIK, CLASS COC B B-06 611 ODOT S2" CONDUIT, TYPE B, 706,02 w/RESILIANT AND FLEXIBLE GASKET JOINTS, 706.11 B-08 616 ODOT WATER B-09 12801 WEST 6" ZINC COATED DUCTILE IRON WATER PIPE AND FITTINGS w/912 BACKFILL | 200 2 1,619 1 4,987 10 250 10 50 50 | SY MGAL SY LS SY SY CY CY CY CY CY MGAL FT | \$5.00 \$1,000.00 \$1,000.00 \$2,000.00 \$12.00 \$19,428.00 \$2,000.00 \$2,000.00 \$1.10 \$5,485.70 \$10.00 \$100.00 \$890,231.70 \$4.00 \$1,000.00 \$50.00 \$500.00 \$450.00 \$22,500.00 \$30.00 \$1,500.00 \$300.00 \$10,000.00 \$50.00 \$20,000.00 \$300.00 \$10,000.00 \$1300.00 \$10,000.00 \$1300.00 \$10,000.00 \$1300.00 \$10,000.00 \$13500 \$38,745.00 | \$2.20 \$92.50 \$10.75 \$900.00 \$0.90 \$10.00 \$11.00 \$46.50 \$200.00 \$30.00 \$11.00 \$475.00 \$138.00 \$152.50 | \$440.00 \$185.00 \$17,404.25 \$900.00 \$4,488.30 \$100.00 \$696,325.15 \$2,750.00 \$465.00 \$10,000.00 \$1,500.00 \$2,750.00 \$2,750.00 \$3,500 | 9 \$1,800.00 3.5 \$7.00 13 \$21,047.00 2500 \$25,000.00 1.1 \$5,485.70 65 \$650.00 \$750,030.20 \$4.00 \$1,000.00 \$25,00 \$25,00.00 \$515,00 \$25,00.00 \$70.00 \$3,500.00 \$40.00 \$1,500.00 \$410.00 \$55,500.00 \$510.00 \$55,500.00 \$410.00 \$55,00.00 \$511,00 \$55,00.00 \$511,00 \$55,00.00 \$511,00 \$55,00.00 | 2.06 \$412.00 87.55 \$175.10 10.15 \$16,432.85 5000 \$5,000.00 1.04 \$5,186.48 10 \$100.00 \$738.429.37 \$4.55 \$1,137.50 \$55.63 \$556.30 \$600.00 \$30,000.00 \$80.00 \$4,000.00 \$92.7 \$2,317.50 \$43.40 \$14,759.06 \$100.00 \$100.00 \$100.00 \$100.00 \$11.59 \$40,636.33 | 1.75 \$350.00 88 \$176.00 10.25 \$16,594.75 1270 \$1,770.00 1.05 \$5,236.35 5.6 \$56.00 \$761,995.55 \$5,10 \$1,275.00 \$26,00 \$260.00 \$213.0 \$1,750.00 \$675.00 \$22,950.00 \$230.00 \$1,150.00 \$213.00 \$1,150.00 \$213.00 \$1,150.00 \$213.00 \$21,300.00 |
| A-32 12653 WEST PROCESSED TOPSOIL FURNISHED AND PLACED A-33 12659 WEST SEEDING AND MULCHING, AS DIRECTED A-34 12659 WEST WATER A-35 12660 WEST SODDING, UNSTAKED A-36 12832 WEST TEMPORARY SEDIMENT AND EROSION CONTROLS A-37 121540 WEST ASPHALT REJUVENATING AGENT A-38 SPC GEOGRID, TENSAR REXISOO OR APPROVED EQUAL, AS DIRECTED INFORMAL TOTAL ALTERNATE A, BID ITEMS A-01 through A-38 BID ALTERNATE NO. B - ASH COURT WATERLINE IMP AND STREET RECONSTRUCTION WATERLINE IMPROVEMENTS B-01 202 COLS WALK REMOVED B-02 203 ODOT EXCAVATION, AS DIRECTED B-03 259 COLS PERMANENT PAVEMENT REPLACEMENT, TYPE I B-04 410 COLS TRAFFIC COMPACTED SURFACE, TYPE A, AS DIRECTED B-05 12608 WEST 4" CONCRETE WALK, CLASS COC 5 B-06 611 ODOT 52" CONDUIT, TYPE B, 706.02 W/RESILIANT AND FLEXIBLE GASKET JOINTS, 706.11 B-07 613 COLS LOW STRENGTH MORTAR BACKPILL, TYPE 2, AS DIRECTED B-08 616 ODOT WATER B-09 12801 WEST 6" ZINC COATED DUCTILE IRON WATER PIPE AND FITTINGS W/912 BACKFILL B-10 12801 WEST 6" ZINC COATED DUCTILE IRON WATER PIPE AND FITTINGS W/912 BACKFILL B-10 12801 WEST 6" ZINC COATED DUCTILE IRON WATER PIPE AND FITTINGS W/912 BACKFILL | 200 2 1,619 1 4,987 10 250 10 50 50 250 34 5 1 287 2 | SY MGAL SY LS SY SY SF CY CY CY CY CY MGAL FT CY | \$5.00 \$1,000.00 \$1,000.00 \$2,000.00 \$12.00 \$19,428.00 \$2,000.00 \$2,000.00 \$1.10 \$55,485.70 \$10.00 \$100.00 \$890,231.70 \$4.00 \$1,000.00 \$50.00 \$500.00 \$45.00 \$22,500.00 \$30.00 \$1,500.00 \$30.00 \$1,500.00 \$50.00 \$20,000.00 \$300.00 \$1,000.00 \$100.00 \$200.00 \$100.00 \$100.00 \$130.00 \$100.00 \$130.00 \$100.00 | \$2.20 \$92.50 \$10.75 \$900.00 \$0.90 \$10.00 \$11.00 \$46.50 \$200.00 \$30.00 \$11.00 \$475.00 \$138.00 \$138.00 \$139.50 | \$440.00 \$185.00 \$17,404.25 \$900.00 \$4,488.30 \$100.00 \$595.325.15 \$2,750.00 \$465.00 \$10,000.00 \$1,500.00 \$2,750.00 \$16,150.00 \$152.50 \$30,135.00 \$279.00 | 9 \$1,800.00 3.5 \$7.00 13 \$21,047.00 2500 \$25,000.00 1.1 \$5,485.70 65 \$650.00 \$750,030.20 \$4000 \$1,000.00 \$25.00 \$25.00 \$110.00 \$7,500.00 \$70.00 \$3,500.00 \$20.00 \$5,500.00 \$400.00 \$13,600.00 \$110.00 \$550.00 \$25.00 \$25.00 \$25.00 \$25.00 \$25.00 \$25.00 \$25.00 \$25.00 \$25.00 \$25.00 \$25.00 \$25.00 | 2.06 \$412.00 87.55 \$175.10 10.15 \$16,432.85 5000 \$5,000.00 1.04 \$5,186.48 10 \$100.00 \$738.429.37 \$4.55 \$1,137.50 \$55.63 \$556.30 \$600.00 \$30,000.00 \$80.00 \$4,000.00 \$92.77 \$2,317.50 \$434.09 \$14,759.06 \$102.00 \$510.00 \$100.00 \$100.00 \$141.59 \$40,636.33 \$227.48 \$594.96 | 1.75 \$350.00 88 \$176.00 10.25 \$16.594.75 1270 \$1,270.00 1.05 \$5,236.35 5.6 \$56.00 \$761,995.55 \$51.0 \$1,275.00 \$26.00 \$260.00 \$345.00 \$17,250.00 \$21.30 \$1,065.00 \$70.00 \$1,750.00 \$675.00 \$22,950.00 \$230.00 \$1,150.00 \$213.34 \$213.34 \$200.00 \$57,400.00 \$190.00 \$380.00 |
| A-32 12653 WEST PROCESSED TOPSOIL FURNISHED AND PLACED A-33 12659 WEST SEEDING AND MULCHING, AS DIRECTED A-34 12659 WEST WATER A-35 12660 WEST SODDING, UNSTAKED A-36 12832 WEST TEMPORARY SEDIMENT AND EROSION CONTROLS A-37 1212540 WEST ASPHALT REJUVENATING AGENT A-38 SPC GEOGRID, TENSAR BX1300 OR APPROVED EQUAL, AS DIRECTED INFORMAL TOTAL ALTERNATE A, BID ITEMS A-91 through A-38 BID ALTERNATE NO. B - ASH COURT WATERLINE IMP AND STREET RECONSTRUCTION WATERLINE IMPROVEMENTS B-01 202 COLS WALK REMOVED B-02 203 ODDT EXCANATION, AS DIRECTED B-03 259 COLS PERMANENT PAVEMENT REPLACEMENT, TYPE I B-04 410 COLS TRAFFIC COMPACTED SURFACE, TYPE A, AS DIRECTED B-05 12608 WEST 4" CONCRETE WAIK, CLASS COC 5 B-06 611 0DDT 52" CONDUIT, TYPE B, 706,02 w/RESILIANT AND FLEXIBLE GASKET JOINTS, 706,11 B-07 613 COLS LOW STRENGTH MORTAR BACKFILL, TYPE 2, AS DIRECTED B-08 616 0DDT WATER B-09 12801 WEST 6" ZINC COATED DUCTILE IRON WATER PIPE AND FITTINGS W/912 BACKFILL B-10 12801 WEST CONCRETE BLOCKING CLASS C, INCREASE OR DECREASE, AS DIRECTED | 200 2 1,619 1 4,987 10 250 10 50 50 250 34 5 1 287 | SY MGAL SY LS SY SY SY CY CY CY MGAL ET CY LB | \$5.00 \$1,000.00 \$1,000.00 \$2,000.00 \$12.00 \$19,428.00 \$2,000.00 \$1.10 \$5,485.70 \$1.10 \$5,485.70 \$1.00 \$100.00 \$890,231.70 \$4.00 \$1,000.00 \$50.00 \$500.00 \$450.00 \$500.00 \$450.00 \$22,500.00 \$30.00 \$1,500.00 \$50.00 \$250.00 \$100.00 \$10,200.00 \$135.00 \$38,745.00 \$100.00 \$200.00 \$135.00 \$38,745.00 \$100.00 \$200.00 | \$2.20 \$92.50 \$10.75 \$90.00 \$0.90 \$10.00 \$11.00 \$46.50 \$20.00 \$30.00 \$11.00 \$475.00 \$138.00 \$152.50 \$10.50 \$139.50 \$2.75 | \$440.00 \$185.00 \$17,404.25 \$900.00 \$4,488.30 \$100.00 \$696.325.15 \$2,750.00 \$465.00 \$100.00 \$455.00 \$100.00 \$1,500.00 \$52,750.00 \$51,500.00 \$52,750.00 \$53,015.50 \$53,015.50 \$53,015.50 \$53,015.50 \$53,015.50 \$53,015.50 \$53,015.50 \$53,015.50 \$53,015.50 \$53,015.50 \$53,015.50 \$53,015.50 \$53,015.50 | 9 \$1,800.00 3.5 \$7.00 13 \$21,047.00 2500 \$25,000.00 1.1 \$5,485.70 65 \$650.00 \$5750,030.20 \$400 \$1,000.00 \$25.00 \$25.00 \$5150.00 \$7,500.00 \$510.00 \$7,500.00 \$510.00 \$5,500.00 \$510.00 \$5,500.00 \$510.00 \$550.00 \$510.00 \$550.00 \$510.00 \$550.00 \$510.00 \$550.00 \$510.00 \$550.00 \$510.00 \$550.00 \$510.00 \$550.00 \$510.00 \$550.00 \$510.00 \$550.00 \$515.00 \$33,000.00 \$515.00 \$33,000.00 \$515.00 \$33,000.00 \$515.00 \$350.00 | 2.06 \$412.00 87.55 \$175.10 10.15 \$16,432.85 \$5000 \$5,000.00 1.04 \$55,186.48 10 \$100.00 \$728,429.37 \$4.55 \$1,137.50 \$55.63 \$556.30 \$500.00 \$30,000.00 \$80.00 \$4,000.00 \$9.27 \$2,317.50 \$434.09 \$14,759.06 \$102.00 \$510.00 \$100.00 \$100.00 \$101.00 \$100.00 \$101.59 \$40,666.633 \$297.48 \$5594.96 \$3.00 \$1,500.00 | 1.75 \$350.00 88 \$176.00 10.25 \$16,594.75 1270 \$1,270.00 1.05 \$5,236.35 5.6 \$56.00 \$761,995.55 \$5,10 \$1,275.00 \$26.00 \$26.00 \$345.00 \$17,250.00 \$21.30 \$1,065.00 \$7.00 \$1,750.00 \$21.30 \$1,750.00 \$21.30 \$1,750.00 \$21.30 \$1,750.00 \$21.30 \$1,750.00 \$21.30 \$1,750.00 \$21.30 \$1,750.00 \$21.30 \$1,750.00 \$21.30 \$1,750.00 \$21.30 \$1,750.00 \$21.30 \$21.50.00 \$21.30 \$21.50.00 \$21.30 \$21.50.00 \$21.30 \$21.50.00 \$21.30 \$21.50.00 \$21.30 \$21.50.00 \$21.30 \$21.50.00 \$21.30 \$21.50.00 |
| A-32 12653 WEST PROCESSED TOPSOIL FURNISHED AND PLACED A-33 12659 WEST SEEDING AND MULCHING, AS DIRECTED A-34 12659 WEST WATER A-35 12660 WEST SODDING, UNSTAKED A-36 12832 WEST TEMPORARY SEDIMENT AND EROSION CONTROLS A-37 121540 WEST ASPHAIT REJUVENATING AGENT A-38 SPC GEOGRID, TENSAR BX1300 OR APPROVED EQUAL, AS DIRECTED INFORMAL TOTAL ALTERNATE A, BID ITEMS A-01 through A-38 BID ALTERNATE NO. B - ASH COURT WATERLINE IMP AND STREET RECONSTRUCTION WATERLINE IMPROVEMENTS B-01 202 COLS WALK REMOVED B-02 203 ODOT EXCAVATION, AS DIRECTED B-04 410 COLS TRAFFIC COMPACTED SURFACE, TYPE A, AS DIRECTED B-05 12608 WEST 4" CONCRETE WALK, CLASS COC 5 B-06 611 ODOT 52" CONDUIT, TYPE B, 706.02 W/RESILIANT AND FLEXIBLE GASKET JOINTS, 706.11 B-07 613 COLS LOW STRENGTH MORTAR BACKPILL, TYPE 2, AS DIRECTED B-08 12801 WEST 6" CONCRETE WALK, CLASS COC 5 B-09 12801 WEST 6" CONCRETE WALK, CLASS COC 5 B-09 12801 WEST 6" CONCRETE BLOCKING CLASS C, INCREAGE OR DECREASE, AS DIRECTED B-10 12801 WEST CONCRETE BLOCKING CLASS C, INCREAGE OR DECREASE, AS DIRECTED B-11 12801 WEST OUTLIE IRON FITTINGS, INCREASE OR DECREASE, AS DIRECTED | 200 2 1,619 1 4,987 10 250 10 50 50 250 34 5 1 287 2 | SY MGAL SY LS SY SY SF CY CY CY CY CY MGAL FT CY | \$5.00 \$1,000.00 \$1,000.00 \$2,000.00 \$12.00 \$19,428.00 \$2,000.00 \$2,000.00 \$1.10 \$54,885.70 \$1.00 \$100.00 \$890,231.70 \$4.00 \$1,000.00 \$450.00 \$22,500.00 \$450.00 \$22,500.00 \$30.00 \$1,500.00 \$50.00 \$250.00 \$100.00 \$100.00 \$135.00 \$250.00 \$100.00 \$100.00 \$135.00 \$38,745.00 \$2,000.00 \$1,000.00 \$2,000.00 \$1,000.00 \$2,000.00 | \$2.20 \$92.50 \$10.75 \$990.00 \$0.90 \$10.00 \$11.00 \$46.50 \$200.00 \$30.00 \$11.00 \$475.00 \$138.00 \$152.50 \$105.00 \$139.50 \$2.75 \$800.00 | \$440.00 \$185.00 \$17,404.25 \$900.00 \$4,488.30 \$100.00 \$696.325.15 \$2,750.00 \$465.00 \$10,000.00 \$1,500.00 \$2,750.00 \$16,150.00 \$51,500.00 \$153.50 \$30,00 \$153.50 \$30,00 \$153.50 \$31,95.00 \$1,375.00 \$1,375.00 \$1,500.00 | 9 \$1,800.00 3.5 \$7.00 13 \$21,047.00 25000 \$25,000.00 1.1 \$5,488.70 65 \$650.00 \$750,030.20 \$400 \$1,000.00 \$25,00 \$25,000 \$5150.00 \$7,500.00 \$71,000 \$3,500.00 \$21,000 \$550.00 \$400.00 \$13,600.00 \$110.00 \$550.00 \$21,000 \$250.00 \$21,000 \$250.00 \$21,000 \$250.00 \$250.00 \$250.00 \$250.00 \$250.00 \$250.00 \$250.00 \$250.00 \$250.00 \$250.00 \$250.00 \$250.00 \$250.00 \$2550 \$250.00 \$2550 \$250.00 | 2.06 \$412.00 87.55 \$175.10 10.15 \$16,422.85 \$000 \$5,000.00 1.04 \$5,186.48 10 \$100.00 \$738.429.37 \$4.55 \$1,137.50 \$55.63 \$556.30 \$600.00 \$30,000.00 \$80.00 \$30,000.00 \$80.00 \$4,000.00 \$99.27 \$2,317.50 \$434.09 \$14,759.06 \$100.00 \$100.00 \$101.00 \$100.00 \$141.59 \$40,636.33 \$297.48 \$594.96 \$3.00 \$1,000.00 \$1,026.96 \$2,053.92 | 1.75 \$350.00 88 \$176.00 10.25 \$16,594.75 1270 \$1,270.00 1.05 \$5,236.35 5.6 \$5520.00 \$761,995.55 \$5.10 \$1,275.00 \$25.00 \$260.00 \$345.00 \$17,250.00 \$21.30 \$1,056.00 \$51.30 \$1,150.00 \$213.45 \$1,344 \$200.00 \$57,000 \$11.30 \$1,050.00 \$11.30 \$1,050.00 \$21.30 \$1,500.00 \$21.30 \$1,500.00 \$21.30 \$1,500.00 \$21.30 \$1,500.00 \$21.30 \$1,500.00 \$21.30 \$1,500.00 \$21.30 \$1,500.00 \$21.30 \$1,500.00 \$21.00 \$20.00 \$380.00 \$21.00 \$20.00 \$380.00 \$21.00 \$20.000 \$20.000 |
| A-32 12653 WEST PROCESSED TOPSOIL FURNISHED AND PLACED A-33 12659 WEST SEEDING AND MULCHING, AS DIRECTED A-34 12659 WEST WATER A-35 12660 WEST SODDING, UNSTAKED A-36 12832 WEST TEMPORARY SEDIMENT AND EROSION CONTROLS A-37 121540 WEST ASPHALT REJUVENATING AGENT A-38 SPC GEOGRID, TENSAR BX1300 OR APPROVED EQUAL, AS DIRECTED INFORMAL TOTAL ALTERNATE A, BID ITEMS A-01 through A-38 BID ALTERNATE NO. B - ASH COURT WATERLINE IMP AND STREET RECONSTRUCTION WATERLINE IMPROVEMENTS B-01 202 COLS WALK REMOVED B-02 203 ODOT EXCAVATION, AS DIRECTED B-04 410 COLS TRAFFIC COMPACTED SURFACE, TYPE A, AS DIRECTED B-05 12608 WEST 4" CONCRETE WALK, CLASS COC 5 B-06 611 ODOT S2" CONDUIT, TYPE B, 75.02 W, RESILIANT AND FLEXIBLE GASKET JOINTS, 706.11 B-07 613 COLS LOW STRENGTH MORTAR BACKFILL, TYPE 2, AS DIRECTED B-08 616 ODOT WATER B-09 12801 WEST 6" ZINC COATED DUCTILE IRON WATER PIPE AND FITTINGS W/912 BACKFILL B-10 12801 WEST OCITIE BOOK FITTINGS, INCREASE OR DECREASE, AS DIRECTED B-11 12801 WEST OCITIE BOOK FITTINGS, INCREASE OR DECREASE, B-12 12802 WEST 6" VALVE AND APPURTENANCES | 200 2 1,619 1 4,987 10 250 10 50 50 250 34 5 1 287 2 | SY MGAL SY LS SY SY SY SF CY CY CY CY MGAL FT CY MGAL FT CY LB EA EA | \$5.00 \$1,000.00 \$1,000.00 \$2,000.00 \$12,000.00 \$2,000.00 \$1,000 \$2,000.00 \$1,10 \$5,485.70 \$1,000 \$100.00 \$890,231.70 \$4.00 \$1,000.00 \$50.00 \$500.00 \$450.00 \$22,000.00 \$300.00 \$1,500.00 \$300.00 \$10,000.00 \$135.00 \$100.00 \$135.00 \$100.00 | \$2.20 \$92.50 \$10.75 \$900.00 \$0.90 \$10.00 \$11.00 \$46.50 \$200.00 \$30.00 \$11.00 \$475.00 \$138.00 \$138.00 \$139.50 \$105.00 \$139.50 \$275 \$800.00 \$1,400.00 | \$440.00 \$185.00 \$17,404.25 \$900.00 \$4,488.30 \$100.00 \$696.325.15 \$2,750.00 \$465.00 \$10,000.00 \$1,500.00 \$2,750.00 \$31,500.00 \$31,500.00 \$31,500.00 \$31,500.00 \$31,500.00 \$31,500.00 \$31,500.00 \$31,500.00 \$31,500.00 \$31,500.00 \$31,500.00 \$31,500.00 \$31,500.00 \$31,500.00 \$31,500.00 \$31,500.00 | 9 \$1,800.00 3.5 \$7.00 13 \$21,047.00 2500 \$25,000.00 1.1 \$5,485.70 65 \$650.00 \$750,030.20 \$400 \$1,000.00 \$51,000.00 | 2.06 \$412.00 87.55 \$175.10 10.15 \$16,432.85 \$5000 \$5,000.00 1.04 \$5,186.48 10 \$100.00 \$738,429.37 \$4.55 \$1,137.50 \$55.63 \$556.30 \$600.00 \$30,000.00 \$80.00 \$4,000.00 \$98.00 \$4,000.00 \$98.00 \$4,000.00 \$141.95 \$1,79.96 \$100.00 \$510.00 \$141.95 \$40,636.33 \$297.48 \$594.96 \$3.00 \$1,000.00 \$1,100. | 1.75 \$350.00 88 \$176.00 10.25 \$16,594.75 1270 \$1,270.00 1.05 \$5,236.35 5.6 \$560.0 \$761,995.55 \$5,10 \$1,275.00 \$26.00 \$260.00 \$346.00 \$17,250.00 \$21.30 \$1,066.00 \$70.00 \$1,750.00 \$675.00 \$22,950.00 \$233.00 \$1,150.00 \$213.24 \$213.24 \$200.00 \$57,400.00 \$11,00.00 \$380.00 \$1,100.00 \$2,200.00 \$1,100.00 \$2,200.00 \$1,100.00 \$2,200.00 |
| A-32 12653 WEST PROCESSED TOPSOIL FURNISHED AND PLACED A-33 12659 WEST SEEDING AND MULCHING, AS DIRECTED A-34 12659 WEST WATER A-35 12660 WEST SODDING, UNSTAKED A-36 12832 WEST TEMPORARY SEDIMENT AND EROSION CONTROLS A-37 121540 WEST ASPHAIT REJUVENATING AGENT A-38 SPC GEOGRID, TENSAR BX1300 OR APPROVED EQUAL, AS DIRECTED INFORMAL TOTAL ALTERNATE A, BID ITEMS A-01 through A-38 BID ALTERNATE NO. B - ASH COURT WATERLINE IMP AND STREET RECONSTRUCTION WATERLINE IMPROVEMENTS B-01 202 COLS WALK REMOVED B-02 203 ODOT EXCAVATION, AS DIRECTED B-04 410 COLS TRAFFIC COMPACTED SURFACE, TYPE A, AS DIRECTED B-05 12608 WEST 4" CONCRETE WALK, CLASS COC 5 B-06 611 ODOT 52" CONDUIT, TYPE B, 706.02 W/RESILIANT AND FLEXIBLE GASKET JOINTS, 706.11 B-07 613 COLS LOW STRENGTH MORTAR BACKPILL, TYPE 2, AS DIRECTED B-08 12801 WEST 6" CONCRETE WALK, CLASS COC 5 B-09 12801 WEST 6" CONCRETE WALK, CLASS COC 5 B-09 12801 WEST 6" CONCRETE BLOCKING CLASS C, INCREAGE OR DECREASE, AS DIRECTED B-10 12801 WEST CONCRETE BLOCKING CLASS C, INCREAGE OR DECREASE, AS DIRECTED B-11 12801 WEST OUTLIE IRON FITTINGS, INCREASE OR DECREASE, AS DIRECTED | 200 2 1,619 1 4,987 10 250 10 50 50 250 34 5 1 287 2 | SY MGAL SY LS SY SY SY SF CY CY CY MGAL FT CY LB EA | \$5.00 \$1,000.00 \$1,000.00 \$2,000.00 \$12.00 \$19,428.00 \$2,000.00 \$2,000.00 \$1.10 \$54,885.70 \$1.00 \$100.00 \$890,231.70 \$4.00 \$1,000.00 \$450.00 \$22,500.00 \$450.00 \$22,500.00 \$30.00 \$1,500.00 \$50.00 \$250.00 \$100.00 \$100.00 \$135.00 \$250.00 \$100.00 \$100.00 \$135.00 \$38,745.00 \$2,000.00 \$1,000.00 \$2,000.00 \$1,000.00 \$2,000.00 | \$2.20 \$92.50 \$10.75 \$990.00 \$0.90 \$10.00 \$11.00 \$46.50 \$200.00 \$30.00 \$11.00 \$475.00 \$138.00 \$152.50 \$105.00 \$139.50 \$2.75 \$800.00 | \$440.00 \$185.00 \$17,404.25 \$900.00 \$4,488.30 \$100.00 \$696.325.15 \$2,750.00 \$465.00 \$10,000.00 \$1,500.00 \$2,750.00 \$16,150.00 \$51,500.00 \$153.50 \$30,00 \$153.50 \$30,00 \$153.50 \$31,95.00 \$1,375.00 \$1,375.00 \$1,500.00 | 9 \$1,800.00 3.5 \$7.00 13 \$21,047.00 25000 \$25,000.00 1.1 \$5,488.70 65 \$650.00 \$750,030.20 \$400 \$1,000.00 \$25,00 \$25,000 \$5150.00 \$7,500.00 \$71,000 \$3,500.00 \$21,000 \$550.00 \$400.00 \$13,600.00 \$110.00 \$550.00 \$21,000 \$250.00 \$21,000 \$250.00 \$21,000 \$250.00 \$250.00 \$250.00 \$250.00 \$250.00 \$250.00 \$250.00 \$250.00 \$250.00 \$250.00 \$250.00 \$250.00 \$250.00 \$2550 \$250.00 \$2550 \$250.00 | 2.06 \$412.00 87.55 \$175.10 10.15 \$16,422.85 \$000 \$5,000.00 1.04 \$5,186.48 10 \$100.00 \$738.429.37 \$4.55 \$1,137.50 \$55.63 \$556.30 \$600.00 \$30,000.00 \$80.00 \$30,000.00 \$80.00 \$4,000.00 \$99.27 \$2,317.50 \$434.09 \$14,759.06 \$100.00 \$100.00 \$101.00 \$100.00 \$141.59 \$40,636.33 \$297.48 \$594.96 \$3.00 \$1,000.00 \$1,026.96 \$2,053.92 | 1.75 \$350.00 88 \$176.00 10.25 \$16,594.75 1270 \$1,270.00 1.05 \$5,236.35 5.6 \$5520.00 \$761,995.55 \$5.10 \$1,275.00 \$25.00 \$260.00 \$345.00 \$17,250.00 \$21.30 \$1,056.00 \$51.30 \$1,150.00 \$213.45 \$1,344 \$200.00 \$57,000 \$11.30 \$1,050.00 \$11.30 \$1,050.00 \$21.30 \$1,500.00 \$21.30 \$1,500.00 \$21.30 \$1,500.00 \$21.30 \$1,500.00 \$21.30 \$1,500.00 \$21.30 \$1,500.00 \$21.30 \$1,500.00 \$21.30 \$1,500.00 \$21.00 \$20.00 \$380.00 \$21.00 \$20.00 \$380.00 \$21.00 \$20.000 \$20.000 |

6.5 \$23,679.50

8.25 \$30,054.75

2.5 \$9,107.50

\$19,672.20

A-02 202 COLS CURB AND GUTTER REMOVED

3,643

\$7.00 \$25,501.00

| B-16 12805 | , | 4 | EA | \$2,500.00 \$10,000.00 | \$3,300.00 | \$13,200.00 | \$2,900.00 \$11,600.00 | \$3,041.76 \$12,167.04 | \$2,500.00 \$10,000.00 |
|-------------|--|----------|------|-------------------------|-------------|--------------|-------------------------|-------------------------|-------------------------|
| B-17 12808 | WEST CUT AND PLUG (CAP) 4" WATER MAIN | 1 | EA | \$2,200.00 \$2,200.00 | \$3,100.00 | \$3,100.00 | \$1,500.00 \$1,500.00 | \$776.64 \$776.64 | \$2,300.00 \$2,300.00 |
| B-18 12809 | WEST FIRE HYDRANT | 1 | EA | \$4,000.00 \$4,000.00 | \$4,900.00 | \$4,900.00 | \$3,700.00 \$3,700.00 | \$3,013.92 \$3,013.92 | \$3,200.00 \$3,200.00 |
| B-19 912 | COLS COMPACTED GRANULAR MATERIAL, AS DIRECTED | 5 | CY | \$50.00 \$250.00 | \$78.50 | \$392.50 | \$100.00 \$500.00 | \$100.00 \$500.00 | \$64.00 \$320.00 |
| | | | | | | | | | |
| | STREET RECONSTRUCTION | | | | | | | | |
| B-20 202 | COLS CATCH BASIN OR INLET REMOVED | 3 | EA | \$450.00 \$1,350.00 | \$600.00 | \$1,800.00 | \$150.00 \$450.00 | \$1,308.96 \$3,926.88 | \$535.00 \$1,605.00 |
| B-21 202 | COLS CURB AND GUTTER REMOVED | 597 | FT | \$7.00 \$4,179.00 | \$8.70 | \$5,193.90 | \$3.00 \$1,791.00 | \$10.09 \$6,023.73 | \$9.30 \$5,552.10 |
| B-22 202 | COLS PAVEMENT REMOVED, AS DIRECTED | 30.00 | SY | \$20.00 \$600.00 | \$22.00 | \$660.00 | \$15.00 \$450.00 | \$75.78 \$2,273.40 | \$16.00 \$480.00 |
| B-23 202 | COLS PAVEMENT REMOVED, ASPHALT | 976.00 | SY | \$10.00 \$9,760.00 | \$2.90 | \$2,830.40 | \$7.00 \$6,832.00 | \$14.53 \$14,181.28 | \$7.25 \$7,076.00 |
| B-24 202 | COLS WALK REMOVED | 400.00 | SF | \$4.00 \$1,600.00 | \$8.70 | \$3,480.00 | \$1.50 \$600.00 | \$5.44 \$2,176.00 | \$5.10 \$2,040.00 |
| B-25 203 | ODOT EXCAVATION | 352.00 | CY | \$35.00 \$12,320.00 | \$28.00 | \$9,856.00 | \$25.00 \$8,800.00 | \$41.38 \$14,565.76 | \$26.00 \$9,152.00 |
| B-26 204 | ODOT EXCAVATION OF SUBGRADE, AS DIRECTED | 50.00 | CY | \$35.00 \$1,750.00 | \$46.50 | \$2,325.00 | \$32.00 \$1,600.00 | \$52.19 \$2,609.50 | \$26.00 \$1,300.00 |
| B-27 204 | ODOT GRANULAR MATERIAL, TYPE E, NO. 2 STONE, 703.01, AS DIRECTED | 25.00 | CY | \$45.00 \$1,125.00 | \$64.50 | \$1,612.50 | \$40.00 \$1,000.00 | \$60.00 \$1,500.00 | \$48.00 \$1,200.00 |
| B-28 204 | COLS PROOFROLLING | 1.00 | HR | \$215.00 \$215.00 | \$98.00 | \$98.00 | \$200.00 \$200.00 | \$76.68 \$76.68 | \$90.00 \$90.00 |
| B-29 204 | COLS SUBGRADE COMPACTION | 976.00 | SY | \$2.00 \$1,952.00 | \$0.90 | \$878.40 | \$3.50 \$3,416.00 | \$1.89 \$1,844.64 | \$2.40 \$2,342.40 |
| B-30 206 | ODOT CHEMICALLY STABILIZED SUBGRADE, AS DIRECTED (ALLOWANCE) | 1.00 | LS | \$10,000.00 \$10,000.00 | \$10,000.00 | \$10,000.00 | \$10,000.00 \$10,000.00 | \$10,000.00 \$10,000.00 | \$10,000.00 \$10,000.00 |
| B-31 259 | COLS DRIVEWAY PAVEMENT REPLACEMENT, TYPE IIIA | 2.00 | CY | \$400.00 \$800.00 | \$400.00 | \$800.00 | \$150.00 \$300.00 | \$600.00 \$1,200.00 | \$400.00 \$800.00 |
| B-32 301 | ODOT ASPHALT CONCRETE BASE, PG64-22 | 163.00 | CY | \$155.00 \$25,265.00 | \$179.00 | \$29,177.00 | \$165.00 \$26,895.00 | \$188.90 \$30,790.70 | \$146.00 \$23,798.00 |
| B-33 304 | ODOT AGGREGATE BASE | 190.00 | CY | \$60.00 \$11,400.00 | \$61.50 | \$11,685.00 | \$58.00 \$11,020.00 | \$64.14 \$12,186.60 | \$43.00 \$8,170.00 |
| B-34 304 | ODOT AGGRGATE BASE, AS DIRECTED | 25.00 | CY | \$65.00 \$1,625.00 | \$72.50 | \$1,812.50 | \$45.00 \$1,125.00 | \$64.14 \$1,603.50 | \$43.00 \$1,075.00 |
| B-35 407 | ODOT NON-TRACKING TACK COAT | 195.00 | GAL | \$4.00 \$780.00 | \$4.50 | \$877.50 | \$3.00 \$585.00 | \$4.25 \$828.75 | \$4.50 \$877.50 |
| B-36 410 | COLS TRAFFIC COMPACTED SURFACE, TYPE A, AS DIRECTED | 95.00 | TON | \$30.00 \$2,850.00 | \$46.00 | \$4,370.00 | \$35.00 \$3,325.00 | \$50.00 \$4,750.00 | \$21.30 \$2,023.50 |
| B-37 441 | ODOT ASPHALT CONCRETE, INT. COURSE, TYPE 2 (448) | 47.00 | CY | \$175.00 \$8,225.00 | \$194.00 | \$9,118.00 | \$200.00 \$9,400.00 | \$200.90 \$9,442.30 | \$226.00 \$10,622.00 |
| B-38 441 | ODOT ASPHALT CONCRETE, SUR. COURSE, TYPE 1 (448) PG64-22 | 34.00 | CY | \$195.00 \$6,630.00 | \$243.50 | \$8,279.00 | \$260.00 \$8,840.00 | \$324.60 \$11,036.40 | \$182.00 \$6,188.00 |
| B-39 12452 | WEST 6" NON-REINFORCED CONCRETE PAVEMENT, CLASS MS | 30.00 | SY | \$75.00 \$2,250.00 | \$87.00 | \$2,610.00 | \$95.00 \$2,850.00 | \$72.10 \$2,163.00 | \$70.00 \$2,100.00 |
| B-40 604 | COLS CURB AND GUTTER INLET (AA-S125A) | 3.00 | EA | \$2,500.00 \$7,500.00 | \$4,170.00 | \$12,510.00 | \$5,000.00 \$15,000.00 | \$4,906.56 \$14,719.68 | \$10,000.00 \$30,000.00 |
| B-41 605 | COLS 6" PIPE UNDERDRAIN, 720.12, TYPE SP | 597.00 | FT | \$11.00 \$6,567.00 | \$8.70 | \$5,193.90 | \$11.00 \$6,567.00 | \$11.25 \$6,716.25 | \$12.30 \$7,343.10 |
| B-42 12608 | WEST 4" CONCRETE WALK, CLASS COC 5 | 400.00 | SF | \$8.00 \$3,200.00 | \$11.00 | \$4,400.00 | \$12.50 \$5,000.00 | \$9.27 \$3,708.00 | \$6.85 \$2,740.00 |
| B-43 12608 | WEST 6" CONCRETE WALK | 50.00 | SF | \$9.00 \$450.00 | \$13.00 | \$650.00 | \$52.00 \$2,600.00 | \$9.78 \$489.00 | \$8.50 \$425.00 |
| B-44 12608 | WEST CURB RAMP, CLASS COC 5 | 2.00 | EA | \$300.00 \$600.00 | \$217.50 | \$435.00 | \$165.00 \$330.00 | \$257.50 \$515.00 | \$125.00 \$250.00 |
| B-45 12608 | WEST DETECTABLE WARNING, TYPE "E" | 20.00 | SF | \$30.00 \$600.00 | \$22.00 | \$440.00 | \$32.00 \$640.00 | \$25.75 \$515.00 | \$24.00 \$480.00 |
| B-46 12609 | WEST 3.5" DIAMETER CORED CURB | 16.00 | EA | \$60.00 \$960.00 | \$32.50 | \$520.00 | \$175.00 \$2,800.00 | \$22.66 \$362.56 | \$45.00 \$720.00 |
| B-47 12609 | WEST COMBINATION CURB AND GUTTER, TYPE STANDARD, CLASS COC 5 | 597.00 | FT | \$30.00 \$17,910.00 | \$23.00 | \$13,731.00 | \$37.00 \$22,089.00 | \$24.16 \$14,423.52 | \$16.50 \$9,850.50 |
| B-48 611 | ODOT 3" CONDUIT, TYPE E, 707.46 | 192.00 | FT | \$15.00 \$2,880.00 | \$13.00 | \$2,496.00 | \$22.00 \$4,224.00 | \$10.57 \$2,029.44 | \$18.25 \$3,504.00 |
| B-49 12653 | WEST PROCESSED TOPSOIL FURNISHED AND PLACED | 29.00 | CY | \$70.00 \$2,030.00 | \$70.50 | \$2,044.50 | \$57.00 \$1,653.00 | \$72.10 \$2,090.90 | \$86.00 \$2,494.00 |
| B-50 12659 | WEST SEEDING AND MULCHING, AS DIRECTED | 50.00 | SY | \$5.00 \$250.00 | \$2.20 | \$110.00 | \$35.00 \$1,750.00 | \$2.06 \$103.00 | \$2.10 \$105.00 |
| B-51 12659 | WEST WATER | 1.00 | MGAL | \$1,000.00 \$1,000.00 | \$92.50 | \$92.50 | \$3.50 \$3.50 | \$87.55 \$87.55 | \$88.00 \$88.00 |
| B-52 12660 | WEST SODDING, UNSTAKED | 265.00 | SY | \$12.00 \$3,180.00 | \$11.00 | \$2,915.00 | \$15.00 \$3,975.00 | \$10.30 \$2,729.50 | \$10.50 \$2,782.50 |
| B-53 12832 | WEST TEMPORARY SEDIMENT AND EROSION CONTROLS | 1.00 | LS | \$500.00 \$500.00 | \$600.00 | \$600.00 | \$1,500.00 \$1,500.00 | \$1,500.00 \$1,500.00 | \$3,100.00 \$3,100.00 |
| B-54 121540 | WEST ASPHALT REJUVENATING AGENT | 976.00 | SY | \$1.10 \$1,073.60 | \$0.90 | \$878.40 | \$1.10 \$1,073.60 | \$1.04 \$1,015.04 | \$1.05 \$1,024.80 |
| B-55 SPC | GEOGRID, TENSAR BX1300 OR APPROVED EQUAL, AS DIRECTED | 10.00 | SY | \$10.00 \$100.00 | \$10.00 | \$100.00 | \$63.00 \$630.00 | \$10.00 \$100.00 | \$5.60 \$56.00 |
| | | | | | | | | | |
| | INCIDENTALS | | | | | | | | |
| B-56 614 | ODOT MAINTAINING TRAFFIC | 1.00 | LS | \$1,500.00 \$1,500.00 | \$2,200.00 | \$2,200.00 | \$14,500.00 \$14,500.00 | \$1,500.00 \$1,500.00 | \$2,500.00 \$2,500.00 |
| B-57 614 | WEST STEEL PLATE, AS DIRECTED | 1,000.00 | LB | \$0.20 \$200.00 | \$0.25 | \$250.00 | \$2.00 \$2,000.00 | \$2.00 \$2,000.00 | \$0.20 \$200.00 |
| B-58 623 | ODOT CONSTRUCTION LAYOUT STAKES | 1.00 | LS | \$2,500.00 \$2,500.00 | \$800.00 | \$800.00 | \$8,800.00 \$8,800.00 | \$5,000.00 \$5,000.00 | \$2,000.00 \$2,000.00 |
| B-59 624 | ODOT MOBILIZATION | 1.00 | LS | \$5,000.00 \$5,000.00 | \$4,000.00 | \$4,000.00 | \$10,000.00 \$10,000.00 | \$2,500.00 \$2,500.00 | \$6,000.00 \$6,000.00 |
| | INFORMAL TOTAL ALTERNATE B, BID ITEMS B-01 through B-59 | | | \$275,221.60 | _ | \$275,168.50 | \$308,844.10 | \$328,774.97 | \$323,467.64 |

Bidders are required to BID the Base BID and all ALTERNATES. Unit Prices set forth shall include all materials, equipment, labor, delivery, installation, overhead, profit, and any other cost or expense, in connection wit

To the City of Westerville, Ohio, hereinafter called OWNER. In compliance with your Advertisement for BIDS, BIDDER hereby proposes to perform all WORK in strict accordance with the CONTRACT DOCUMENTS and to the complete satisfaction of the City, within the time and at the prices stated herein. By submission of this BID, each BIDDER certifies, and in case of a joint BID, each party thereto certifies as to their own organization, that this BID has been arrived at independently, without consultation, communication, or agreement as to any matter relation bill bill with any orther BIDDER or with any competitor.

BIDDER hereby agrees to commence WORK under this CONTRACT on or after a date to be specified in the NOTICE TO PROCEED and to fully complete the PROJECT on or before **October 1, 2021**. BIDDER further agrees to pay liquidated damages as provided in Section 108.07 of the General Provisions and Section SP 8 of the Special Provisions.

| | BIDDER acknowledges the receipt of | the following ADDENDUM(s): | | | | | |
|-------------|------------------------------------|----------------------------|--|--|--|--|--|
| CONTRACTOR: | | DOING BUSINESS AS: | | | | | |
| ADDRESS: | | _ | Insert "a corporation", "a partnership", or "an individual" as applicable | Insert "a corporation", "a partnership", or "an individual" as applicable | Insert "a corporation", "a partnership", or "an individual" as applicable | Insert "a corporation", "a partnership", or "an individual" as applicable | Insert "a corporation", "a partnership", or "an individual" as applicable |
| CITY/STATE: | | PHONE NUMBER: | | | | | |
| DATE: | | FAX NUMBER: | | | | | |
| TITLE: | | EMAIL ADDRESS: | | | | | |
| SIGNATURE: | | WEBSITE : | | | | | |
| | | | | | | | |